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Question Number : 1 Question Id : 7512365441 Question Type: MCQ Option Shuf%: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) :

Reason (R) :

argpg (A):

580 (R) :

Herbariums are plant repositories \f@ are used as reference specimens.
Recently these are digitalized I}ggl al use.

Herbarium helps in the clasgification of plants and gives complete
description about the tam@{ f
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The correct answer 1s:

é&@oé HargrEads;

Options:

Both (A) and (R) are true. (R) 1s the correct explanation of (A).

1

(A). (R) Bodr 2653083, (A) 8 (R) 268308 Jbden.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(A). (R) ot $05032. 52 (A)§ (R)H850& 258 w6,



i

4.

(A) 1s true but (R) 1s false.
(A) 585058, 570 (R) 05038 5.

(A) 1s false but (R) 1s true.
(A) 20856 s, 50 (R) 20gs6.

Question Number : 2 Question Id : 7512365442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify combination of incorrect statements related to cyanobacteria.
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Cyanobacteria are referred to as blue-green algae
They perform oxygenic photosynthesis in chloroplasts.

The red-colour of red-sea is due to the presence of a cvanobacterial species
Trichodesmium eryvthrium.

All the cyanobacterial species can fix ammsp@?iz in specialised cells called

heterocysts. (1/
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Question Number : 3 Question Id : 7512365443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists:

List-1 List-1I
A) Identification of Auxins I)  Frankel Conrat
B) C,pathway IM) Charles Darwin
C) Discovery of genetic nature of RNA M) JB.Sumner
D) Theory of evolution IV) EW. Went
V) Hatch & Slack
ol D80 =d8rdod.
588 -1 5% -11
A) sdw MNiowho D) %ﬁmgeﬁ ol
B) C,srgsn é\raﬂga AN
C) RNA Bw), adog0nd80 SSofmdot & JB. 5506
IV) EW.30&

D) %0 dosson ({/

@ V) &5%5 & &§
The correct match 1s: J
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Question Number : 4 Question Id : 7512365444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists:
List-1
A) Siphonostele

B) Solenostele
C) Dictyostele
D) Protostele

ol HBEod =d8rEjodé.
o838 -1
208 -1

A) Tl @38 godhn
B) oSS

) é)@ém@ TS
Bo8e :‘goeﬁ;ﬁw (egrer

D) B&% HdGm Hossdn

The correct match is:
BOGS 2

Options:
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List-11

Dissected siphonostele with overlapping
leaf gaps

Siphonostele with scattered leaf gaps
Central core of xylem surrounded by phloem
Medullated protostele
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Question Number : 5 Question Id : 7512365445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) :

Reason (R) :

sy (A):

z&mo (R) :

In pteridophytes. the gametophytes require cool. damp. shady places to
ZIOW.

Specific requirement and the need for water for fertilization. the spread
of living pteridophytes 1s limited and restricted to narrow geographical
regions.

o
BOE S0 ook Hodridado » @'X Sod, B, b Fosw
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The correct answer 1s: Q/?“

m;@;x} S RTTNNM

Options:

K2

Both (A) and (R) are true. (R) is the correct explanation of (A).
(A). (R) Sodr $58g3:80. (A)8 (R) 2065308 Jhde.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(A). (R) Bodr 505080, 520 (A)§ (R)D8508 Db s2d.

(A) 1s true but (R) 1s false.
(A) 585056, 570 (R) 2053056 .



(A) 1s false but (R) 1s true.
(A) 2053056 50, 5 (R) 2053086,

Question Number : 6 Question Id : 7512365446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

General function of the root system is absorption and conduction of water and minerals
besides anchoring. But in this case the roots are fibrous and become swollen due to storage
of food. Indicate the plant:

VHEEHB 5800E A DO Plre Fhe IH SgHY BwE), Fde 8. 5 Y,
363 NG HgIRST Pod wHto Jeod oo iR Hodraw. soredd 308D
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Potato
| mometiod Q//QQ/
O

Carrot @
v

artoviod:

5 57568 Q/
Taeniophyllum &%

éf;@cﬁﬁ&ga

Asparagus

g@ Poils 1]

Question Number : 7 Question Id : 7512365447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following lists :

A)
B)
C)
D)

So&

A)
B)
©)
D)

The correct match 1s:

KJE}@JE& 2365

Options:

£

(A)
\%

(A)
\Y

(A)
Y

List-1
Musa. Cocos. Colocasia

Crotalaria. Mangifera
Cassia. Cauliflower
Achvranthes, Grasses
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List-11
Corymb
Spikes
Umbel
Spadix
Raceme
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Question Number : 8 Question Id : 7512365448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the types of fruits presented i List-I with the name of the plants given in the List-II.
List-1 List-11

A)  Schizocarpic fruit I) Mustard
B) False frut ) Acacia
C) Parthenocarpic fruit IMM) Stawberry
D) Dry fruit IV) Banana

V) Cotton

O

5881 ays Hossas HG8-I1* andys mga@ﬁ@* 2887608,
538 -1 Vsgs -1

A) ﬁﬁé‘?ﬁgg Sedn é 25770

B) w58 sosn O D estar

C) edushod Jobn @ ) &3

D) % Hosn Q/v IV) o6&
&% V) %a

The correct match is:

HOGHS F°BOY:

Options:
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Question Number : 9 Question Id : 7512365449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

One of the following is called as “Terror of Bengal'.

& 8ol TS w88 Bord D8 o) Thwsod.

Options:
Brvophviium
(BB e0

1 --

O)
inger N
- $

& 1‘3’_._2 o
Water hyacinth
BISHBE, @

Rhizopus ,@
ReLa2e
4

Question Number : 10 Question Id : 7512365450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : Xenogamy involves transfer of pollen grains from the flower of one plant
to the stigma of another plant.

Reason (R):  This is the only type of pollination which brings genetically different types
of pollen grains to the stigma.

gy (A): D) JPBTHTH 50080 w8 TG 8 &) DTS’ HorridanPen
368 I D ol JQdergio NE 26O whetow.

8o (R): & o8 HTHDoHd) 0 EED adoghdornr JDEEETY HTHTD) O8I SR8
RDEIRF000.

The correct answer is:
QOGN Ddorerdnw!
Options:
Both (A) and (R) are true. (R) is the correct exp von of (A).
(A), (R) Bodr 2033053, (A)8 (R) 65308 ;Q[ya
14 @
Both (A) and (R) are true. but (R) 1s 1€ correct explanation of (A).
. (A). (R) Bodr H050LID. ?ﬁ@& R)56G&808 Q580 s2¢k.
(A) 1s true but (R) 1s false. %
(A) 2050856, 570 (R) ﬁﬁeﬁ& s° .

—

(A) 1s false but (R) 1s true.
(A) S8g0da o, 50 (R) 2058,

Question Number : 11 Question Id : 7512365451 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The sequence of stages during embryogenesis of a dicotyledonous embryo.

&8¢ D Dodod” 1l LoTRNG S0 KD B

Options:



Proembryo — Globular embryo — Mature embryo — Heart shaped embryo

BEH Doto — W& d Dodo — HE; Bodo — TYBairs s vodo

Heart shaped embryo — Proembryo — Globular embryo — Mature embryo

Tryicirsd Qodo — (P85 Dodo o Tersd wodo — BE; wodo

Mature embryo — Proembryo — Globular embryo — Heart shaped embryo

DEg Dodo — (D&% wodo — Aersd Lodo — FTYBATrEd Dodo

Proembryo — Globular embryo — Heart shaped embryo — Mature embryo
BED vodo — AeEd vodo — Tmiasrs s E}ué@—} D8 Dodo

4. f\/

Question Number : 12 Question Id : 7512365452 Question Type: Mcwti Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical @



Which of the following are the characteristic features of the family Fabaceae?
I  Gamosepalous nature
Stamens five. epipetalous

IL
M. Margmnal placentation
IV.  Petals five. polypetalous
V. Fruitis a berry

T Bodaso2o 08, & 53&3;::5 ofrw §od TS @J‘lm?
Sodlng JEE SiEand

Bdoren 5, Dofotriss’ D08

€508 WodT g0

wEd JE"w S, BHodsNEo

Boytod oo Q\?‘)
V

< =2 B R F

The correct answer 1s: @
ﬁﬂ@:ﬁé AT NO! @Cj

Options:

. LILOLV Q/v
K2

MIOLIV.V
2]
LILIL IV
3
LIOLIV
4,

Question Number : 13 Question Id : 7512365453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



One of the families 1s characterized by the following floral formula:
& (800 DROTsE0 28 Hotwoerds wEmor EALN08.

- '{ T
Br.Ebrl, ©.Y . P{3+3} . A(3+3)* Q(a}

Identify the family:
& Sodwoard) Mfodod:
Options:
Solanaceae
AOIN

Liliaceae
, OOGLH é
RS
Fabaceae
38 ((,v~
3 &%
Leguminosae
ShrgDS

Question Number : 14 Question Id : 7512365454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Which of the following characters are found in ribosome?

They are composed of RNA and proteins and are not surrounded by any membrane.
The membrane transports a number of 10ns.

They are membrane bound vesicular structures and rich in hydrolytic enzymes.
They help 1n the synthesis of proteins.

SBHB"

DSV & (Bod o ofsreds OA HIaw?

L 22 3g%Bo@sdo (RNA), @836 28 080d FES" es5dotad Hodd.

I 2§ «d38 oddSrooin o T5008.

I 23 68" 58008 Todh Ao pgren DO IS S TESLS IsBI0H
£0 Hodd.

IV. 220 @88 ﬁo’fﬂﬁm 2ENTUE GadirnsSdéarown. g

The correct combination 1s; (19\/

H0G0% Lwows:

Options: Cj@

TandIV @
156050 IV

LILIMMandIV &%

L II. II1 5558050 IV

Mand I
50805 IIT

Mand IV
DS08adan IV

Question Number : 15 Question Id : 7512365455 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : Starch can hold iodine molecules whereas cellulose cannot hold iodine
molecules.

Reason (R):  Cellulose forms helical secondary structures whereas starch does not
contain complex helices.

agpg (A): 208 doTer e@rds emsPod JwPSHe. vogsBa Srgo
o@rES woHes 58 SosEY

5000 (R): eoged’d 8w 8008 Baodh oot 236;]53@0&. 5 DoddT o
Srigo Sodh BOSeDH 0 Yok,

The correct answer is:
8IS SJorgrddn:
Options: g
Both (A) and (R) are true. (R) 1s the correct E}ip@%fﬂﬁ of (A).
(A). (R) Bodr 5030350, (A)8 (R) 2og3 ;{A&a.

1 @

Both (A) and (R) are true, but (R) 15 Ct{e correct explanation of (A).
(A). (R) Bodr H0G0HD. 51 &F‘{R}:}a@aé D588 0.

9

(A) 1s true but (R) 1s false.
(A) 588058, 572 (R) 653058 w°&0.

(A) 1s false but (R) 1s true.
(A) 5853038 5780, 5 (R) $0530:56.

Question Number : 16 Question Id : 7512365456 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) :  In crossing over, the exchange of genetic material between two homologous
chromosomes occur during both mitotic and meitotic cell divisions.

Reason (R):  The process of crossing over is only possible and 1s mediated by
recombinase.

s (A): AVBoRoS HHolued H0005n Foddn JF=d ToddsS® SHoaréod
EarTine Hody =2doghad iyl 2dibdod.
sdmo (R) : 8sToan ;’JE Soeie$ 3o AADooDsy a2t FdgoPsiod.

The correct answer 1s:
ﬁ&@ozﬁ SdrorHNn:

Options:

Both (A) and (R) are true. (R) is the correct explann@ of (A).
(A). (R) Bodr 28530352, (A)8 (R) 20508 Jiypdy.

1- A

Both (A) and (R) are true. but (R) 1-;&(}* correct explanation of (A).
(A), (R) Sodr $0g0&d. 5 (A?~ )2BG0E DT 5.

2) Q/
(A) 1s true but (R) 15 falaa.&%

(A) $883058, 0 (R) 05058 5°8>.
=

(A) 1s false but (R) 1s true.
(A) 285086 5, 30 (R) 205036.
4

Question Number : 17 Question Id : 7512365457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : The peripheral region of the secondary xylem is lighter in colour and is
known as the sapwood (alburnum).

Reason (R):  Itisinvolved in the conduction of water and minerals from root to leaf.
Fgps (A): Eodh e o B8 IFod® Hotwoh. &) JdTdh (sepd)m
DO G0.

580 (R): 28 36 Sood JHErds 288 6, pde Hdd0d” TS otnod.

The correct answer 1s:
OGN SArERBw0;
Options:
Both (A) and (R) are true. (R) 1s the correct explanat'@ of (A).
(A) 508050 (R) e ok 88659, (R) 36 (@@a@é D58

1 &(1/

Both (A) and (R) are true, but (R) 1s nofAhsorrect explanation of (A).
(A) 500050 (R) w0 Sodr $0308 (R) 38 (A)ss 20508 Dihdee 57,

(A) 1s true but (R) 1s false. %Q/

(A) 58653058, 53 (R) K:&t_&sﬁ&: 0.
3

(A) 1s false but (R) 1s true.

(A) 205056 s, 50 (R) 205058,

4.

Question Number : 18 Question Id : 7512365458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Which of the following are the part of the Periderm?

i Duramen
. Phellogen
II. Phellem

IV.  Phelloderm
V. Albumun

& 808 TAS® A HBEL S’ o Golron?

L ©0&T 8

IL
IIL
V. 2g46,
V.

The correct answer 1s:
$OS0S BIrESo:
Options:
IIL.IVandV
L IV:58csn V

I ITand IV
II. I So8cdn IV

OOLIVandV
I T, TV 5580 V

LI MandV
LIILITS805: V



Question Number : 19 Question Id : 7512365459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists:

List-1 List- 1T
A) Rooted hydrophyte with floating leaves I) Limnophila
B) Submerged suspended hydrophyte ) Vallisneria
C) Free floating hydrophyte M) Utricularia
V)

D) Amphibious plant Victoria regia

V) Salvinia

& 1808 HFod a8 B®.

5638 -1 5638 =11
A) @ﬁléfﬁeau B[o8, 5&5:.2 88 S o 308, g D I3z er
B) Srom 867 500, edvoddomr G¢od O k ) o9538air
C) &% ?‘oﬂgfﬁt:]rr“ 88 n&30E), &(1/
D) edohid Ing e O((/ o5 Batr bsatr

@ V) &rdpdatr
The correct match is: J

HOTR u8! &

S ETE

S B

Options:
@ ®® O O
I Y I I

1.

A @’ © O

5 M \Y I I
@ @® © O
y W I I I

@ @ © O



Question Number : 20 Question Id : 7512365460 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following are the measures that should be taken to protect pollinators?
Reducing the level of pesticides used in and around your home.

Encourage building butterfly gardens. and bee boards.

Discourage the creation of own pollinator-friendly garden.

Not to support agriculture enterprises that avoid pesticide use.

<BR"

& Bod TAS® D JHTHR0DY), STTETOH oS IFES0en?

1 1Y), VoVoCY Dodog F&0d BLEads LT TR E0M0 Shogdo

I o885 dendo Shod, 838Ke DodEsvos Erowdo

I Soriidodd) d&rsdhe $Hcho I&) o8 hm Dods ) b e)Tddddo
A%

§uirds STosH IARrAOBI égé#ﬁ;@ﬁﬂ:& DOSSBEF S0

YV

The correct combination 1s: @

©00N Bwons.
Options: @
[.Iand I J
I I 50803 IIT %
A
O T and IV
I T 20865 IV

TandII
[508cs0 11

Mand IV
I S58csn IV



Question Number : 21 Question Id : 7512365461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In "Pressure Flow" hypothesis, sugars are transported from 'source' to 'sink’. The initial
steps which occur during this physiological process are shown here.

L  Inleaves glucose is converted to sucrose.

I  Sucrose moves from sieve tube cells to companion cells by active transport.

III. Loading of sucrose produces a hypotonic condition in the phloem.

IV.  Water in the adjacent xylem moves into phloem by osmosis.

‘B8E HaSH SBENS ahod BY Joo &8 Sodo S0k HVETBoE RS [BSiTrotherow,
& 6556 HEHS' Fot woBen & o8 SrBudS Do Gokrow.

L 3T 6088 LFEm SrdnBoddod.

I 93 torgd Serren (rodsmres) od Srdmroi Soir Hardro mo DEE Solo.
I HEE H3do Sod FiE ey voyTEs ?g@.fqmdoﬁé_%o&.
V.

Bardddm Sod TdhEmroo o E‘:‘P”E&é&aaa‘@{ﬂé Q& 3o,

V

Identify the above correct statements:
28 2O TES® S0 HI) aﬁgmgetﬁmu&
Options:

Tand IIT Q/v
T%0805 III @
: A

Mand IIT

IMS08 05 I
2.

TandIV
. I508050 IV

Hand IV

508050 IV
4,

Question Number : 22 Question Id : 7512365462 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : Free-living bacteria such as Rhizobium and Frankia can help in biological
fixation of dinitrogen in the roots of angiospermic plants.

Reason (R):  Prokaryotes exclusively contain nitrogenase enzyme which can catalyze
the oxidation reaction of dinitrogen to glutamate.

Ty (A): @;’J;}@’i)aa S0 o 3?5"“* BFDabo Hdcdn (rofalr &3 ‘f\}ugﬁ:heé;’}é
TEoSrer B-IETRS ES5BR TSR SFFao Dow.

sdmo (R):  Sods iyrds 2SN T LRE I0FH0 B JW e Krdrdodm 5888w
S8y o wB)8m BXod.

The correct answer 1s:

Kna@oé JAErTEd0:

Options:
Both (A) and (R) are true. (R) 1s the correct explam@ of (A).
(A) 6050 (R) w0 Bodr OB, {R}@éﬁm&: 5005 D58,
1. &
Both (A) and (R) are true. but (R) 1s né/cmrﬂct explanation of (A).
(A) 558050 (R) e Bodk> éa@:é@m R) 238 (A)S B0G0H 580 7.

(A) 1s true but (R) 1s false. Q/

(A) $88:58, 52 (R) aa@ma 5.
>

(A) 1s false but (R) 1s true.
(A) 205050 3¢, 50 (R) 200,
4.

Question Number : 23 Question Id : 7512365463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The graph below depicts velocity of an enzyme catalysed reaction vs. substrate concentration.
Identify the alphabets with correct description.

Bob T S0l & @B)08F0d F8g Book), ITIE Sg8080T eEJBTIo MESH JorDB0b.
OGS SEIE Er&S vioro Hiotd.

I  A=Enzyme activity \9
Q

A=20F0 §o5riod q/

I B=Substrate concentration at maximum VEIQ({}’
B= r‘iﬁa&ﬁﬁo n.}g @cﬁg amgo e @

. A=Substrate concentration at which the maximum velocity

A =350 ﬁﬁnﬁfrﬁo 5 @6 w{:l-"

IV. B =Half of the maximum v%g/

B :ﬁa;ﬁﬁoﬁ STate

The correct combination 1s:
BOGS w8

Options:
LIl
I IV

II. II

. IV



Question Number : 24 Question Id : 7512365464 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A): In PS I the reaction centre. chlorophyll 'a’ has an absorption peak at
700 nm. hence 1s called P700. while in PS II. it has absorption maxima at
680 nm and 1s called P680.

Reason (R):  Calvin pathways occur in all photosynthetic plants, it does not matter where
they have C; or C, pathways and the Calvin cycle described in three stages:
Carboxylation. reduction and regeneration.

gy (A): 508 $559-1 & Hgrodo-a § 700 nm S e Ipdo Holwod.
sadd S0 P700 o, o8 5708 Hgd%-II &° 680 nm &8 #o0 e
Hotnoh. Sai 6D P8O ™ Hendd

500 (R): ©Q) 86mady Sodrrgoh =hiid Ing) " 391 Srgo §A000.
30§ & C,8a C,omso 388 abhasdeds sacho . fardo
&3 3D Jodird) Ifowrdd: ToNRGIES, oEdmo, YIS,

The correct answer 1s:

A
DOGS HBrEHB0: O@
Options: $
c

Both (A) and (R) are true. ( g}f correct explanation of (A).
(A) 308050 (R) en aow 6032, R) 36 (A% $08 dSdes.

Both (A) and (R) are true, but (R) s not the correct explanation of (A).
(A) 500050 (R) o0 Bodr 20c080. 570 (R) @38 (A)so S6G08 D:hde 5740,

(A) 1s true but (R) 1s false.
(A) 5853058, 570 (R) 285086 5.



(A) 1s false but (R) 1s true.

(A) 588058 0, 59 (R) 96G038.
4.

Question Number : 25 Question Id : 7512365465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following are required for chemiosmosis?
I  Amembrane

II.  Aneutron pump

M. Anelectron gradient

IV.  ATPase

L &6 (8gamw)
I &oegére S0

L Qﬂ@}g SEET é
IV. ATPO& C)
The correct answer 1s: J

385308 BETTEO: &@

Options:

[&ID

O&IT
2

[& 1T

[&IV

Question Number : 26 Question Id : 7512365466 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arrange the following in the order of their occurrence in the glycolytic pathway.

I  Triose bisphosphate R ~ Triose phosphate

I.  Fructose-6-phosphate p Fructose 1. 6-bisphosphate
. Phosphoenolpyruvate R Pyruvic acid

IV.  2-Phosphoglycerate — Phosphoenolpyruvate

V. Glucose-6-phosphate —_— Fructose-6-phosphate

VL Triose phosphate — 2-Phosphoglycerate

§od W) H) TOS, Brrods Srdodt 7)) TN HHSES00S" wdd)ok.
L oRrE a2 . GBS TR0

oL @8&- 6‘#?\:{3@ —_— WESE 1, 6-&)?}@"&3@

I SFHonad DEFIE —_—y Ed@? &0

V. 2-33HA808 — 5 oS RIS

V. ﬁaj?é 6-3‘*“?&3&33 —;.&%5356 i}*“’@:&é&d

VL (&S oyt 4()@ 2- RSB

The correct sequence is: @

3BGS SEBvES0: Q/v
Options: &%

i P PO 1 P S a1 )]

IE EIN, 'V, I, VI

2]
VB I B NL T
3
V. II. I VL IV, I
4,

Question Number : 27 Question Id : 7512365467 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the reactions where energy is produced:

L  Malic acid + NAD" __Malate dehydrogenase . nyaloacetic acid + NADH

Citric acid —2<%¢_, cis-aconitic acid + H,O

IL
I Succinic acid + FAD —Sucanic dehydrogenase  pyymaric acid + FADH,
V.

Succinyl CoA+ADP+ Pi TE‘;E;E > Succinic acid + ATP+ CoA.

Oxalosuceinie

V. Oxalosuccnic acid —5 -5 r— o-Ketoglutaric acid + CO,

od -".;::'5‘&2{31 SEES” ¥ &S 5‘?@&"‘&?)1 B okod.

I 300§ wijo +NAD STOETEER , e’ I8 esdoo + NADH

DS w0 —EIEE 050585 o +¢@

I
Il &35 esio + FAD SRE4Tdeds | @g e300 + FADH,
V.

, p . o
5826 §-2080d + ADP+Pi Téf)%) 58)05 esoo + ATP+ CoA.

V.  e5d® 3895 sdo — RTINS 1 8¢5 rir08 @S0 + CO,
& o = .ﬁ_pag%ia - =

The correct combination is: %Q/

SOG0E ad A

Options:

LILIVandV
LILIV&8asanV

MLOLIVandV

I1 IIT, IV 50800 V
2,

LIOIandIV
LI 508c5: IV



MITandIV

IT, T Zo8.@do0 IV
4

Question Number : 28 Question Id : 7512365468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : The foolish seedling disease in rice seedlings is caused by a fungal pathogen.
Gibberella fuzikuroi.

Reason (R):  E. Kurosawa reported the appearance of symptoms of the disease in
uninfected rice seedlings when they were treated with sterile filtrates of
the fungus and the active principle was identified as Gibberellic Acid.

Tgwg (A): 58578 3nE) 0" LeBer HEST o 3008 2d8o 283 og&d (foolish
seedling disease) Eeorimdnod.

g0 (R):  afdhdrs godord 5058 Srg)Es S ancﬁmg OoBY moLe s
oW 2003Pd T8S® T7g8 ol 2&Tow. & Boirio STTA)
221098 esdoormr hBom .

The correct answer 1s; Cj@
DO@S BErErSH0: @

Options:
Both (A) and (R) are true. ( e correct explanation of (A).

(A), (R) Bod SIGIeRSINEY 'ﬁﬂ)g (R) DO DHTea.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(A). (R) Bodr $0c032. 50 (A)§ (R)S8530S D8 576

(A) 1s true but (R) 1s false.
(A) 205086, 570 (R) 2883058 sddo.

(A) 1s false but (R) 1s true.
(A) 2008 57, 50 (R) H0&odab.



Question Number : 29 Question Id : 7512365469 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists:
List-1 List-11

A) Photoautotroph I)  Nitrosomonas
B) Chemoautotroph ) Rhodospirillum
C) Photoheterotroph I0) Salmonella
D) Chemoheterotroph IV) Chlorobium
ol J8od a2d8rgod.

5638 -1 558 -1
A) seé ROCS0T AT ) S &Erasd
B) &&odhd SgobodFasten [@5‘@*@3?&
C) 508 JFusen FeYIer

D) &3cHd HEFaEen Q’/& IV) &§%°Dabo

The correct match 1s: @
$OGHS @ Q/?‘

Options:
@ @38 (© &@

1\ I I T
@ @B © @O

@ @B © @O

@ B © (@D
Y I I I



Question Number : 30 Question Id : 7512365470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements related to viruses are incorrect?
L  Antibiofics can kill viruses
Viruses are inactive outside the cell

IL
M. Genes involved in viral metabolism are located in the viral genome
IV.  Phages can multiply by two alternative mechanism, the lytic and the lysogenic cycle

SEDH Dowohod Bod Tgwge D ST @oDndID.

I Jrffdoicow 38R0l JoPson.

I &S0 Jenode D ﬂ@o‘é&*é&éoﬁ Jodrow.

II. 3¢S £5fchess s78Es adgder dF0s” J§ho Bobhad Jolrow,

V. 285m0 Shard HE8L 53y S5 Hdoin SIFAIS Sodr ITTo YFo ago

The incorrect combination is; ‘1/

ééﬁrr“r\’né@j_ oo é
Options: C)

I II $

L m NS
2 &%

II. II

TEO @@5’;&% Todoaron.

. IV

Question Number : 31 Question Id : 7512365471 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In a cross between true-breeding (homozygous) red-flowered and true-breeding
(homozygous) white flowered plants. the F, progeny was pink. The phenotypic and genotypic
ratios in F, progency were 1:2:1. This 1s because of:

QB Y;yeo Ko o) o (SJoddnMzEo) Beod YTyos Ho g, (DScswMzo)
$08bE0mo HOGHS Paddos’d F ddo Ingen Mherddor Hirjodanon. F,dded
QES Syfy Sobotn aogdrd @ 1:2:1 628 sdmo:
Options:
Dominance

2)aTeh ria"gu
i

Co-dominance

S-0ESS0 Q’\?)

s,

WI0rg wardddo @

Hybridization Q/?~
S080885w &%

Incomplete dominance é
@,

Question Number : 32 Question Id : 7512365472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the followimng lists:
List-1

A) Back cross

B) Test cross

C) Heterozygote

D) Homozygote

Bod JHsodn 2E8rod:
288 -1

A) D4 Sosdeaion

B) &85 HodSeedos

C) Jddocdnmz=o

D) &Sodioryeo

The correct match 1s:
DOGN uE!
Options:
(A) (B) (C)

. W V I

(A) (B) (C)
\Y I I

D
1)

IIm)

V)
V)

D

List-11

It 1s the genetic make up of an individual.

An mdividual 1s having two different alleles for a single
character. Consequently it will produce two different types
of gametes with reference to a gene.

An individual 1s having two similar or identical alleles
for a single character. Hence, it will produce only one
kind of gametes with reference to a gene.

If the F, progeny are mated back to one of their parents.
The cross between F, progeny (or heterozygotes) and
their recessive homozygous parent.

S8 -11

a8 228 T30S 332605@5 g;oge,}'b;?&:.‘&:r d9% wo¥o
o€ 25t ¥ @ﬁaﬂ":ﬁ@ 208080 Bod 3’5@36& r:ﬁ:oﬁ&'_
Doy Gaon., JOPLT 2dogIEe douodol) Tok
570 SodBrid) GG wibh.

2.8 Bt B8 Dowodod &8 SEJS oS0y
Dy . B08 & adog o dowofod a;ér:‘ié;_ga’;}
INTeTen ey &8 28

F #0898 T06 2088 3008 & 2 2d%es’ BASIFM

@ EaQ ﬁhfé}n
VAT 0882 (B¢ disoasoruys) sscswly, ©osgs

%E‘!ﬁi ) =dgod 287 doddmo.



(A) (B) (C) (D)

. V. N I I
(A) B (© (D)
, vV Vv 1 m

Question Number : 33 Question Id : 7512365473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A bacterial strain S was heat killed. Another strain R (living) was taken and mixed with
this S strain. This mixture of S+R strains were injected into mice. Which of the following
are observed by Griffith?

A The cells of S strain were dead in dead mice

Il.  The bacterial cells without polysaccharide coat are transformed into virulent strain in
the injected mice

I Griffith could not find living S strain in the bod ad mice
IV.  Griffith could find living S strain in the body d mice

A

S-Bowd r§8ak0 38 o Podadosd. & (RO (£Jonding), & s Bonss
Soodwdod. & STRguws i), g V8 DITHR2E0. 0 & Bod HoTudod

SV HBowrda?

I S0dond Q8w S@mg(ymm SV Ao

L DoEsed) SFae3s ﬂg&@&@?gﬁﬁ &R wr§ocH S e &1 (Bos e
58585 Boaros.

I S0&Fons QPossd, (DS 288HF) S Hondds EHTETS

V. S0&Fonsd Dok (26 @88JR) S Honads Skofrand.

The correct combination is:

5008 wons:

Options:

[.II

LI IV
2



LILIV

OoIv

Question Number : 34 Question Id : 7512365474 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Between DNA and RNA. DNA is a better genetic material.

Reason (R):  2'-OH group present in every nucleotide in RNA is a reactive group and
make RNA labile and easily degradable.

Tgps (A): DNA.RNA o&* DNAE?D@E() 23808 &Tgo

580 (R): RNAS'Q 98 28, Sorg8BrBaS” J&) 2'-OH SIS0 chdn o8 |Sairiod
RSN OB B0 ﬁ@-’gfﬁéuﬁ HAWoLoN tﬁé@ﬁ’qoéﬂoﬁ. 20800 S
D)6 Botob. Q

The correct answer 1s: é

D00E Sdrgrddn:
Options: @
Both (A) and (R) are true. (R) correct explanation of (A).
(A). (R) 3o ﬁaﬁoé&,{% (R) 2065808 D8k,
1.

Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).
(A), (R) Sodr $85082. 52 (A) § (R)DB30S 58 5°8%0.

(A) 1s true but (R) 1s false.,
(A) 585058, 572 (R) 8053088 5.



(A) 1s false but (R) 1s true.
(A) 88308 52, 5°Q (R) H853058.

Question Number : 35 Question Id : 7512365475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

These triplets among 64 codons do not possess any understanding to continue the process
by association with their anticodons.

64 I’ P& & (88 Jodaw, vodlSfFrod’ I Soows ¥l FIFhotitado
©FoVBIE HLrNE DABrHSHED.

Options: %
UUU,UAA,UAC Q\'
1.
NV
UAA.UGA.UCG @
=
@,

UAA.UAG UGG @

UAA UGA.UAG
K2

3

Question Number : 36 Question Id : 7512365476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

H. Boyer & S. Cohen are famous for their research work on

H. 55°c%8 So8cdn S. 855800 o786 H0Fddes® o Sokos® 2w twa?

Options:

Structure of double-standed DNA

Soty Fde DNA QAT 0
1.



Construction of the first artificial DNA molecule
0083300653 é;}@aéo DNA 2o goird

Discovery of restriction enzymes
ORES ASES 0 S

Invention of Polymerase Chain Reaction

FODTE B O0IrES S mbado

Question Number : 37 Question Id : 7512365477 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a restriction enzyme digestion experiment. a D ‘\aémeut of 1 kilobases length 1s
used. This fragment harbors three 5-GAATTC-3' regtriction sites. After the restriction
digestion of this fragment with Eco RI. 3 DNA fragfitents corresponding to 500. 300 & 100 base

pairs are observed in the agarose gel electr #s1s (AGE). Predict the positions of the
restriction site (GAATTC) in the undigested L kb-fragment which will result in the observed
bands in AGE.

ORES JoBo £gBod @ﬂrﬁé@?@eﬁ*ﬁﬁ Féfo =8 DNA poderq) arado.
& poddod” Sy S-GAAIG

WS dogg 500 578 28, 300 58 28 Sodddw 100 56 adod 0AS Surdo DNA
oSO oS B2S J@@@‘G‘?ﬁ} (AGE) &° ddodoards. £gosR 1 kb poddgoid
AGE &° 5838008 a:.-gﬂef ﬂ@ﬁﬁ @;éu (GAATTC) fe %;TEE&J &Barotiod.

"podd FTen HIow. Eco RI &° a:moc'écj"@i 2go

Options:

100. 300 and 500 base pairs
100, 300 So8c8x 500 578 22en

100. 200 and 500 base pairs

100, 200 H0808e 500 578 22fexs
2



200 and 500 base pairs

200. 500 508 =28en
2

100. 300 and 800 base pairs
100, 300 So8c3> 800 578 =2den

Question Number : 38 Question Id : 7512365478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Bt toxin exists as inactive prototoxin but once an insect ingests the inactive
toxin, it is converted into an active form of toxin.

Reason (R):  Protoxin gets activated in insect gut due to the acidic pH in the gut, which
solubilises the protein crystals. (b

argpg (A): Btér§yo cﬁ{%oﬁ?ééé rerSom a‘@)o;j/@. 570 awiard Swdo K)@Jgjcﬁmééé
rfedo £go BE08 ©b \BAPpEVirsiSm Srddod.
om0 (R): Bbko eofTird NEHES k@gﬁm oHTTES'D 65y pH 508

PR SNSRI é&ﬁoi&@f@'g}ioi’? DB 6.

The correct answer 1s: Q/?
éﬂ@oé SRTTSS500: %

Options:
Both (A) and (R) are true. (R) 1s the correct explanation of (A).
(A). (R) Bodr 35653052, (A)8 (R) 568308 J58en.

Both (A) and (R) are true. but (R) i1s not the correct explanation of (A).
(A). (R) Bodsr 565082, 20 (A)8 (R)D8508 2he s°d.

(A) 1s true but (R) 1s false.

(A) 585058, 50 (R) 505058 6.
=



(A) 1s false but (R) 1s true.
(A) 205058 52, 50 (R) S0,
4.

Question Number : 39 Question Id : 7512365479 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists:

List-1 List-1I

Crop bred by hybridization Resistance to disease
A)  Wheat I)  Blockrot and curl blight black rot
B) Brassica M) Mosaic virus, leaf curl
C) Cauliflower I) Leaf and stripe rust. hill bunt
D) Cowpea IV) White rust

V) Bacterial bli gI:Q

od HEIES 285808 (19

38 -1 adSE 3

0880 T B |Haddo % H ATEES
A) Ao I) 050y, D0k BE Soso)
B) @Erose a Sooermon§ IR, whodoodod
) S‘J@é S5 %%D D Bobosn wde BioBdn B, irdwodd
D) S & IV) 8ed Sofod difoen

V) erBooshd B

The correct match 1s:

ﬁ&@o?ﬁ 2365 ;

Options:
A ® © O
vV [T Vv i

@ @ © D



A @’ O O

.V m v I

A @® © (D
II I\ Vv I

Question Number : 40 Question Id : 7512365480 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The agent used to control insect populations:

8e¥ Jopgdo JohoGohirdd GHArHoR SEESW:

Options: g
Bacillus subtilis Q\'

fb%‘ﬁ B5BEH

Nucleopolyhedrovirus
SrpSBr O TS DS @

Azospirillum &%

JEETS 5) aobeo
)
Azotobacter

LR e

Display Number Panel: Yes
Group All Questions: No

Question Number : 41 Question Id : 7512365481 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct sequence of hierarchy in the classification
Phylum

Fanuly

Order

Class

Species

Genus

mHY OW»

Cn

3086w PFEIgEdod’ 388 Q) Mlowod.
S0
godanoeo
§D00

O)
JETO ‘\/
>

2T 69

Mmoo R

Options:

A
Sera &
W
A—-B—-D—-C—oE—F

A— B’—}D’%C—}F—}E&%

3
A—-D—-C—-B—-F—=E
3
A-5D-sC—B—SE-F
4

Question Number : 42 Question Id : 7512365482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct statements with reference to greater biodiversity in the tropics.
A The duration of time available for species diversification is limited.
Solar energy and water resources are available in abundance.

B
C. Tropical climates are not constant and cannot be predictable.
D. Tropical latitudes have remained relatively undisturbed for millions of years.

R0l ofE £5JATYE Jdonodod TBS arpgods MHBowod.
2Hho IAFgo FIs 0hod TwHgHd HBJEBL

—0

A

B. 64, 08 S8 oigd edddo

L &30k Trerdda BoZEes vwRdomr & od, wodTIoNd Ao Goddo
D

GRode eFore TFafom Hdhaw §F§ Jodd)oren gdorm soadio o

N
QY

8 LV

B&D @O@
B&C v

i @
C&D &%

M8 HoE dGoddo

Question Number : 43 Question Id : 7512365483 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct statement with reference to ‘Enterocoelomates’.
Body cavity is formed from endodermal pouches

They display determinate type of cleavage

Enterocoelomates are deuterostomes

Hemichordates are enterocoelomates

o n Wy

‘o 00 g Ehodo Jowohod HOGS Tgpgods HfoFod.
A 388 Bodrdo woddcd Sre Sod J8yddiod

B. 23 30508 Q84T (@600

C. oo 908 S8 €Pen HEoh Swpirdoen

D.

TrsREr Edon woE 88 Hlroren

O)
Options: ‘\/
%

A&B

. C&D ((,$

A&C

Question Number : 44 Question Id : 7512365484 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following.

SET-1 SET-1I
A)  Os penis I) Sesamoid bone
B) Girdle I) Visceral bone
C) Patella 1) Cartilage bone
D) Cranium IV) Investing bone
§oB T8I aEHhdn.

588 -1 588 -1
A) 89 IR ) ddrond Jd0E
B) 3wpe II) woédocrol Q508
C) 30 Oy ) SopdFp S8
D) &sareo V) & Qdoo8

The correct match is Cj@

2OGS 60D @
Options: ?“

A B € D ((/
. 1 \Y )@

A B E D
I I
A B C D
. & 9t W
A B € D
, I m 1 W

Question Number : 45 Question Id : 7512365485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (S) : Planaria possess high degree of regeneration capacity.
Reason (R):  Planaria exhibits ‘polyembryony’.

g (S): HVBIrS' PIDSHE @-&é@;m&@* €00

&m0 (R): HI0 s *e.}"m&hoci@“‘agéhﬁ BE/08.

The correct answer is
Q0008 Jdrerdsw
Options:
Both (S) and (R) are correct and (R) is the correct explanation to (S).
(S). (R) Bodsr 3683052, (R) (S)50 200808 Db a:d908.

o)

Both (S) and (R) are correct but (R) is not the (D&CT explanation to (S).
(S). (R) Bodr S6g382. (R) (S)% mg@s&:ﬁm Qo B,

. Q
(S) 1s correct but (R) 1s not ¢o g

(8) %8358, 53 (R) éa%

(S) 1s not correct but (R) is correct.

(S) 8058 57, 572 (R) $8o58.

Question Number : 46 Question Id : 7512365486 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The spermatheca. which receive and store spermatozoa in pheretima are present in

DOBIFS HEETOH [firod, S h HETTEeod podaren.

Options:



17t 18t & 19t segments
17. 18 & 19 35 moderen

o 7t gth & 9th seoments
6. 7.8 & 935 podkeoren

111 & 12% segments
11 & 1285 podsren

10 & 11t segments
10 & 115 poderen O
4_ >

Question Number : 47 Question Id : 7512365487 Question Type: M tion Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

elements and muscles ks coelome and viseral organs.

Statement (S) : Chordates have a tail e}{t§€u& posterior to the anus. It contains skeletal
Reason (R):  Inaquatic Drganis:al/m'(s as a balancing organ.

Fgwg (S): SEFdzrods %} FolnDpie Lo Fdhodnd Goluod. 2b
wRdond oo éCTG;ﬁ’JKJO. Bodorod 800 &od, $68 So58o, woddol
©HoRT o BT wotnod.

s¥mo (R) 1  20dd dHod® a8 dddoge edchdom ST

The correct answer 1s
HOGTH DEFEHS
Options:
Both (S) and (R) are correct and (R) is the correct explanation to (S).
(S). (R) Bodr 28350, (R) (S)80 20808 D¢ 1dy08.



Both (S) and (R) are correct.
(S). (R) Bodr 5850350

(S) 1s correct but (R) 1s incorrect.

(S) $88:56, 50 (R) 585058 5.
3.

(S) 1s not correct but (R) is correct.

(S) %056 T, 59 (R) HOGSE.

Question Number : 48 Question Id : 7512365488 Question Type: MCQ Option Sh : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the key adaptations helped evolutionary s?@f Reptiles on land?

A Warm-bloodedness &
B.  Pulmonary respiration and dry scaly S]d%
C. Internal fertilisation

= @,

Amniotic & Cleidoic eggs @

& 808 TBSD D S @-ma%m $68yF0 Ty wTS HoeH JRcSrIE

DD 0. ,@

D. Q) eTes §5Fmo§ ﬁ:cég

Options:

A B&C

B.C&D



AC&D

A.B&D

Question Number : 49 Question Id : 7512365489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following :
Set -1 Set - 11
A) Suchonematic I) Monas
B) Pantonematic ) Urceolus
C) Acronematic ) Astasia
D) Anematic IV) Polrtoma
V) ywiomonas
Bod A 2SDHBTB®. (1/
0838 -1 & oesy -11
A) PEISrSE (j% FrS
B) rois*soe3E @ ) edalred
C) JEI5rSE J ) epaab
D) 20588 ,@ IV) O
V) @Fg&Farso

The correct match 1s

HBGS S0

Options:
A B C D
I Vv I Ir



I I
e

A B
4. v I

C D
I I\Y
c D
I I

Question Number : 50 Question Id : 7512365490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (S) : In ciliates. conjugation restores the vigour and vitality which are lost due
to chromosomal imbalance in the macronuclei due to repeated amitotic
divisions.

Reason (R):  Conjugation is temporary union of senile ciliates belonging to same mating
types. It often prevents exchange of nucleal material.

argg (S): QI H)EBoy ©I8 BISES Ei_@ FoBodsos” &
S'3rg dne odddogd S 0208 Eaé’)ééaé SSSRIGMCIORY
Doosuiin 2O Ees® o;j Pe 08,

g0 (R) 1 25345 Sohond a3 & @E‘“F&é BoBS 0dGE e HoEg 20 oe) 88
Swows dodinio. "&m o BollE DTTO DV QT HS06.

The correct answer 1s %

BO@S DEFFHBE0 A

Options:

Both (S) and (R) are correct and (R) 1s the correct explanation to (S).
(S). (R) Bodr 5883083, (R) ()80 $85308 Jh5m 2:3308.

Both (S) and (R) are correct but (R) 1s not the correct explanation to (S).

, (S). (R) Bodi> 5803030, (R) (S)80 008 Db adgdo S,

(S) is correct and (R) is not correct.

(S) %0856, 50 (R) 305056 5.



(S) 1s not correct and (R) 1s correct.

(S) %8558 5%, 53 (R) BBGSE.

Question Number : 51 Question Id : 7512365491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify correct combinations.

Primary Host Secondary Host Parasite

A Man Culex Wiicheraria
B. Man Anopheles Plasmodium
C. Man Musca Entamoeba
D. Man Absent Ascaris
88 oEloYhoss Miotiod. g

FEE w&Fown &r8od ©83ww Q DTF) £
A S5 %) o gy AL &§3600
B. S @:Fiﬂé‘:gtj@ FIBabo
2 S ﬁ;@ Jdododoar
D. Srd o @2&0 &J7.08

Options: &%

A&B
B&C

C&D

A&D

Question Number : 52 Question Id : 7512365492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The mterval between the first entry of Plasmodium into the blood in the form of sporozoites
and the second entry in the form of cryptozoites 1s called

Fadabo BEghom FGerondl JrHod” JEos” ©H20AINE Hod To&F0
EF a0t JEod's TBSEH 1 gy sod:

Options:
Virulent period

AEoBody a0

Latent period

aTHd sPoo

Incubation period Q‘\c/b

FER 5Pe0

A
Prepatent period O@
@ 2B sreo @

Question Number : 53 Question Id : 751236 estion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option tation : Vertical



Match the following :
Set-1 Set-1II

A) Benzodiazepines I)  Euphoria
B) Barbiturate ) Depressant
C) Herom (Diacetyl morphine) 1) Sleepiness
D) Cocaine IV) Tranquilizer
$o& D 2dDHdathBw.
Se38 -1 S8 - 11
A) Bog dosraDy) D eod 38
B) erSaogiitden ) &Hohde EOREH
C) woons (BIRBS $r8)S) I &) s0a0BD
D) §33 V) SOV

O

L

The correct match 1s @

ﬁ&@oéﬁ F&oR)
Options: @
A B C D ((/?“
AV

. m I I 2
A B € ']§
, I I m v
A B C D
. vV m I I
A B € D
, W I m I

Question Number : 54 Question Id : 7512365494 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The cells of fat body of cockroach which contain symbiotic bacteria are
Dr2SS er§boiredy A ol Qo8 FYg Borderen

Options:

Mycetocytes
PRETRE)

Trophocytes
& FR8)

Oenocytes

& i) Q\c’b
V

Urate cells é
S0 Eegrew @C)
4,

Question Number : 55 Question Id : 7512365495 Quedtign Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Oria%kn : 'eertical

Identify the correct Sequeude% flow of circulation of blood m Periplaneta americana

& (808 RI(RAS DOFTLr VDOFT SR EEHHCPY HOS DT MYoSed.

Options:

Heart — head sinus — aorta — pericardial haemocoel — perivisceral haemocoel
and sternal haemocoel

008 = do Fhlo —» TP - THBcirdde JERTE0 —» Ddorgodorof
JEBrEo HBodn dd Huf JEsTdo



Heart — pericardial haemocoel — aorta — perivisceral haemocoel and sternal
haemocoel — head sinus

fod — Tdcirdde SEErdo  — DI —  Sorgodorod Hododw
8 Do¥ STl —» do Bldo

Heart — aorta — head sinus — perivisceral haemocoel and sternal haemocoel
—» pericardial haesmocoel

OB —  SSFEH0 —  de Bado — L"::D‘“guéa““oﬁ 0005w &88 Hol
gg8ordo — ‘S’.J'“;}.cioijbs’}éea gEsoTso

Heart — perivisceral haemocoel and sternal haenmc%—} pericardial haemocoel
— aorta — head sinus

fo® — Horgodorod Hoboin dd Dol YEES —  TRcsrSde 8BTS0

— TG —  do Fbo &
@

Question Number : 56 Question Id : 7512365496 Questi e: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientati(% tical

Thermoreceptor sensillae of @G ach are present on

TROES” &y TE ‘i::?&ajwm &% §od Tl wolrow.
L B el L

Options:

Maxillary palps

2088 Jyonoiio

Antennae

D)8 o ‘o



Tarsi of legs

5"%@.&‘3’5 o &rde

Labial palps

(3 TnTe] ﬁgn‘.‘:‘ﬁ;or‘io
4

Question Number : 57 Question Id : 7512365497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (S) : Very small animals are rarely found in the polar regions.

Reason (R) : Small animals have a larger surface area relative to their volume and tend
to lose body heat.

gy (S): 28 Q) zoIw &P (Foood® © &57“ Edesdarown.

sdmo (R): 38 zodhJheor 8 T 0800 y 508 I8N Gddde Irego
5OR woddo ég w%&’;}"ﬁo éc@o&.

The correct answer 18 @Cj

HBGIS BITETHB0

Options: @E

Both (S) and (R) are corr éﬁi (R) 1s the correct explanation to (S).
(S), (R) Bo&r ﬁa@:é&% (S)80 $8a3d DHTes.

Both (S) and (R) are correct but (R) is not the correct explanation to (S).
(S). (R) Boder 2580350, (R) (S)80 50608 e 5780,

(S) 1s correct but (R) 1s not correct.

(8) $83086, 5 (R) 565058 5.



(S) 1s not correct but (R) 1s correct.

(S) %8856 T, 50 (R) $8G0S8.

Question Number : 58 Question Id : 7512365498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following :

Set-1 Set-1I
A)  Endosmosis High altitude adaptation
B) Exosmosis Desert adaptation

C) Metabolic water Problem for fresh water animal

D) Increase in the RBC production

0B TV 2SHEEHB%. O
558 -1 %Qg‘\#g 11

A) wodd EHI8e0 ,Q 8BS |Fod wsreso
1)
IV)

zg8°®

Problem for marine animals

ST8 esdobroso

B) wrdrg $a9d8e CJQ/[D
C) 2Z38csr a0dw @

D) J85EEeTe ©i8ES Q/

The correct match is ,@

5O FEON

$000A8 £Hho Bhodg

wlf

DI EPho DBy

Options:

A B © D
. m N I

vo
M
o



A B C D

Question Number : 59 Question Id : 7512365499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following pollutants competes with oxygen for binding to haemoglobin
and mterferes in oxygen transport?

Bod AHAS TWRTEFeS® 8 shius TIPTASE vodotuddod® FEIE v
Erer” eodoraio EDAN0E?

Options:
Carbon dioxide
‘a"d&xﬁ E@EJE

Sulphur dioxide

E’S@JS Q@Ejﬁ é
@

Carbon monoxide $
e IrT[)e Q/

Nitrogen oxide

St'zee wBb
= A%

Question Number : 60 Question Id : 7512365500 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The cells which remove unwanted substances and microbes that attack the liver by
phagocytosis are

580008 BToPNGh Swred, TR TR & grEdolo Saagin T Fofion Seamen

Options:



Neutrophils
SoegEd e Sen

Kupffer cells
o Eegrew

Mesangial cells

A moRcihE Eogren

3.
Monocytes
S weien g
4. '\/
Question Number : 61 Question Id : 7512365501 Question Type: MCQ ,Opti uffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

&
&6 PeTrdo Bl
Options: @v

Alterations in the levels of C}Q@l pH has no effect on the affinity of O, with hemoglobin.
CO,. pHFawo&™ S8y s, TIFTHS Doy Ko vonodow Jerod Hardo
TIP3 8.

Bohr effect refers to

Increase mm CO, and pH in blood results in decrease in the affinity of O, with
hemoglobm.

880s® CO,. pHo dihde FIrTdsE u§us odonom) &0

08,

Decrease in CO, and pH in blood results in an increase in the affinity of O, with
hemoglobin.

880e5* CO,. pHo dhde rIrfass’ ediad edworrd) wohdod.



Increase of carbon dioxide in the blood and decrease in pH results in the reduction of
the affinity of hemoglobin for oxygen.

8goes® CO, Fon wHMGe, pH 8iHide sfiust TIrfdls’ fo odwomd)
ShHgol.

Question Number : 62 Question Id : 7512365502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (S) : The sinoatrial node is called ‘Pace-maker’.

Reason (R):  The sinoatrial node contains specialized cardiomyocytes and generates
action potentials without any external stimuli.

Tgg (S): R0 -585" 800 ‘wasrSodEo’ @l heodrd.

s*d=o (R): DO 885 S0 0% el §océ%er-m a}'ﬂﬁ'ﬂg[ﬁadea SsooT
Bolriziods &8 Tapon. Q’\/

The correct answer 1s &

ﬁﬂ@:éﬁ RSIARN NG Cj@
Options: @

Both (S) and (R) are correct au@ the correct explanation to (S).
5!

(S). (R) Bodr $58530:83. )
. %

Both (S) and (R) are correct but (R) 1s not the correct explanation to (S).
(S). (R) Bodr 50330350, (R) (S)80 505308 D80 mbqdo D,

0008 D58 adyol.

—

(S) 1s correct but (R) 1s not correct,

(S) ¥88058, 5 (R) $68058 5.

(S) 1s not correct but (R) 1s correct.

(S) %8058 56, 50 (R) HOGSE.



Question Number : 63 Question Id : 7512365503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Following events are associated with blood pressure regulation by kidney.
A)  Formation of Angiotensin IT

B) Secretion of Aldosterone

C) Fall in blood pressure

D) Reabsorption of Na™ from distal convoluted tubule

E) Release of Renin

F) Restoration of normal blood pressure

G) Conversion of Angiotensinogen to Angiotensin I

H) Acfivation of Juxta Glomerular cells

A sozdrde-II Jdkw @
B) sJhoo @0 (19
C) oghaso sMse
D) &rooidoddd sdos® Naw edsr %53%‘3’1&0
E) 3a: ddode @

F) 258 58S @émgs%v

G) wsodErdYyTes, %f?ﬁ&hﬁl Syl
H) abir Fldred Sardd 48udddhé

The correct regulation sequence is
S88 Bloerddo
Options:

D-H-C-A-B-E-F-G
C-H-G-A-E-B-D-F

C-H-E-G-A-B-D-F



H-E-G-A-C-B-F-D

Question Number : 64 Question Id : 7512365504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

[dentify the correct statement with reference to shortening of sarcomere

#6@&30&35 P D) éﬁgcﬁﬂ:é& Ro20Ho0) ﬁéé J“g:pge_:?&: HoBodods.
Options:

Z membranes brought closer. A-band unchanged. and I-band reduced in length

Z-Sgaren SHS™ 20h, A-H8 chedgor wod, 198 >dH Siido

7 membranes brought closer. A-band and I-band boﬂ%duc ed in length
Z-Sgoren SHEM 20h, A-D8, 8o ﬁ“ﬁé@

Z-membranes unchanged. A-band an Cjnd reduced in length
Z-8riren cgrdiom wod, A 5’::-&5& sy Sifdo

Z-membranes brought clgg@band unchanged and A-band gets reduced in length

Z-Sgaren SHS8M 208, I-38 cbmddor eod, A-34 P8P Shdo

Question Number : 65 Question Id : 7512365505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (S) : Damage to cerebellum results in uncoordinated voluntary muscle

movements

Reason (R):  Cerebellum is responsible for the control and coordination of locomotor
OVEmEnts.

Tgg (S): eRDVY,0 BSHowd dHstod Jird Joho@8 okd 808w
Eenoarow.

w80 (R): 6508 §650%0 dcoho@em, HHodohsnds eHtdfe I8k,

The correct answer 1s
ﬁaﬁoé PCIR VTR IR b
Options:

Both (S) and (R) are correct and (R) is the correct explynation to (S).
(S). (R) Bodsr 505039, (R) (S)% 50503 5};’}@'\/

A

Both (S) and (R) are correct but (R) 1s @e correct explanation to (S).
(S). (R) Bodor 5833052, (R) (S)& S DHe 5.

((/?‘
(S) 1s correct but (R) 1s n&@rect.

(S) 65058, 50 (R) $65VSE 5.

(S) 1s not correct but (R) is correct.
(S) 565058 5%, 5 (R) H650:58.

Question Number : 66 Question Id : 7512365506 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The following statements are true for progesterone EXCEPT ONE

DEQOH 202050 Trgpgen IV, wE &)

Options:



It prepares the uterus for the implantation of blastocyst

20 VY POTII Hondddr) o BHd
=R e e EY < it =

It causes formation of alveoli in the breast and helps in secretion of milk

88 Hodoes® w5 BT L‘.‘JD‘J&J}ESO EEER éﬁiéggﬁ ShvalovbieTa bl Slela

Its withdrawal prolongs pregnancy

& FOYH Bog), widodrdn (GTdnd FIanagod
3

It inhibits contraction of the uterus

28 Hopdod QofTrodn A6 H™0s Q@
A

Question Number : 67 Question Id : 7512365507 Question Type: r@)ption Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical C)

S
K2

4.



Match the following.

Set-1
A) Cretinism I)
B) Simple goiter II)
C) Cushings syndrome IT)
D) Myxedema IV)
508 TAD =BDHBHHS®.

5658 -1
A) BE8Iu D
B) &8¢ mroodb )
C) ool doE'w 1)
D) d§ddr IV)

The correct match 1s

50608 B0

Options:
A B £ D J
1 I I I IV%
A B E ,§
x N I m N
A B C D
I I I A\
>,
A B e D
s m N I

Set-1I

Adult hypothyoridism

Congenital hypothyroidism

Todine deficient diet induced hypothyroidism
Hypersecretion of glucocorticoides

=38 - 11

wis -1

FE SRS’ Trrgoronba
DENES® HoFJoV TIFForrondadd
008" @BPES S'No S SoFDoB

G orooo @
[sa=-— [ -

@?Fgg&fa ©O5'6S

Question Number : 68 Question Id : 7512365508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical



Match the following:
Set -1 Set-1II

A)  Vaccmation I)  Artificial passive immunity
B) Granzyme release ) Cell mediated immunity
C) Lysozyme mediated ) Artificial active immunity
D) Antivenin IV) Innate mununity
ol AR 2dDdohhw.

ae3s -1 wedg -1

238 -1 238 - 11
A) 55834 D 5é% dn SIS GES
B) (Toa% ddde ) %0508 SrISEES
C) TS HE5508 ) gg@ Sosrie SHIESES
D) oSrot3BD5 IV) K&oy 5528 s8s

V

The correct match 1s

50 &80 &)Q/

Options: @v
A B € D %
M I N I A

A B € D
., HE F I

A B € D

P R I 3
3.

A B € D

m B 1 %
4.

Question Number : 69 Question Id : 7512365509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (S) : There is LH surge in Ovulatory phase.
Reason (R):  LH surge induces the growth and maturation of follicles in the Ovary.

argwg (S): @Dc?égg Gges® LH ég G otnol.
s8w0 (R): LH®§ womiohos® H8fe ide, 38080 [W0dy08.

The correct answer 1s
OGS DB FTRSD
Options:
Both (S) and (R) are correct and (R) is the correct explanation to (S).
(S). (R) Bodsr 56830352, (R) (S)80 H65808 k8 20k,

. O

Both (S) and (R) are correct but (R) 1s not thef@ct explanation to (S).
(S). (R) Dot 56059, (R) (5)% ﬁa%%mm Scdo Béo.
: ¢
(S) 1s not correct but (R) 1s CD]‘IECI@
(S) 85058, 5 (R) ma@é@ﬁ
’ %,
(S) is correct but (R) 1s not correct.

(S) S8g3088 5260, 572 (R) 205038,

Question Number : 70 Question Id : 7512365510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following;

Sel-1
A) Natural method
B) Intrauterine device
C) Injection
D) Barrier
Bod TAQ 228Dt S0,
o838 -1
208 -1
A) 5= 588
B) ﬁc“::_éotﬁruéfﬁ TR0
C) 376 3508
D) e3&8d&o

The correct match is

5608 F°EoD

Options:
A B C
I vV I

= >

E‘IT

=

1)

S 8

Set-1I
Cervical cap.

Depot Medroxy Progesterone Acetate
(DMPA)

Lactational amenorrthea
Lippes loop

2e38 - 11

2635 -1

:’iU‘;fﬁ’oﬁJ L’)JJ:?JC&"S& Sogeed

EFIEE) @@?ﬁgo‘“ﬁ JoB¢ (DMPA)

wgazéef@)aﬂaoar

ol

Question Number : 71 Question Id : 7512365511 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical



The phenomenon where more than two alleles exist in a population of an organism at the
same locus on the homologous chromosomes is known as

w8 & a0’ SX0ach Fard e o FR0S” Do S0 )8y, ooty ¥y
SISELTE

Options:
Co-dominance

S alrg B

Polygenic inheritance

E&K}"f&ﬁé&g NS et k1]

o)
Pleiotrophy (19\/

2 (LT

Multiple allelism @
wdvd odor) DSOS J

9

Question Number : 72 Question Id : 7512365512 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In which of the organism. the following type of sex determination is possible
& 808 & IS & §0d HLoS adwdd dof Qgrdes DoPIos

d

AA' Z0 AA7Z
® ® %)
AZ A AZ

Aa77 Aég%

J
S

Fumea

Sy Q/$

Grasshopper

L Do

Drosophila
(ETFoe

Question Number : 73 Question Id : 7512365513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (S) : The heterozygous individuals for sickle-cell anaemia (Hb® HbS) express
disease phenotype and also carriers of the disease.

Reason (R):  Hb® Hb® genotype individuals are resistant to severe effects of malaria.

Tgwg (S): 2SS AJcsr (HbA HBS) dasociomyz Sgigen g0 S58003
Byigordo §0A Gol FITwm SgSSoRL

s6mo (R):  HbA HbS 2805850 Sg8gen 5080050 a750 8 vEere Sood I HESS
$9A &0l

The correct answer 1s
HBGE BIFT B
Options:
Both (S) and (R) are incorrect.
(S). (R) Bodkr DODoBD 57

Both (S) and (R) are correct. @
(S). (R) Bod> HBG5D

B J
Both (S) and (R) are comyg@ (R) 1s suitable explanation to (S).
(8). (R)Bodb 335, (R) (S) & &88 s

(S) 1s incorrect but (R) is correct.

(S) H83086 T, 52 (R) HOFPSH.

Question Number : 74 Question Id : 7512365514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following:

A)
B)
C)
D)

Sod

A
B)
©)
D)

Set-1
Cvanognathiis
Archaeopteryx
Seymouria

Eusthenopteron

The correct match 1s

5660 80D

Options:

H » 2 »

< »

H »

B c
I I
B c
I I
B c
I I
B c

Set-11

Reptiles & birds
Amphibians & reptiles
Reptiles & mammals
Protochordates & fishes
Fishes & amphibians

EEEEE

588 -1
D 385res, Sfoen
) ﬁaﬁ@:ﬁﬁ“m* S85yaren
1) Jyren, Ssmren
}Q%w?émm* Jden
()% DHhen, Gfoisores

< O = 0

g .



Question Number : 75 Question Id : 7512365515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following factors is not included in the “Modem Synthetic theory” of
evolution?

o8 addd s dTed® I8 BHIS &F BBy HoFhe ?\amh}oéo’eﬁ*' PO BIDE B EDES?

Options:

Mutations & Genetic recombination

& S\BIGTTw, 2oy YsdoddreT oo

Inheritance of acquired characters

@ge}i ocare edoSolEds

Natural selection é
@)

(©8)8 D=0
5 D
Reproductive 1solation J
D88 DSEE ,@

Question Number : 76 Question Id : 7512365516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The survivors of original population from natural calamities might be genetically different
from their ancestors. This kind of evolutionary force is known as

3H0erge SUd 2888 EPhow T8 ORI adogddornr IBHOWHW). & FEDIS
2o

o) Bod dgormr 80w,

Options:

Genetic drift
252635 SJ#@E}&’J



Bottleneck effect
BEIE HerSo

Stabilizing selection

wOEdm S8w0
[}

Directional selection

Q3 aindg H¥mo

Question Number : 77 Question Id : 7512365517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (S) : Bird flu is an umportant disease affec@ poultry birds.
Reason (R) : The disease is caused by H N, vh@,

5 )

Fgog (S): FQ S0 S Boopgo & "dhe &
sdmo (R): & ogd HN, 03 3863@EeV5enivsiod.

The correct answer 1s Q/?

SIeTon IV RISl ARt VY
Options: &
Both (S) and (R) are correct and (R) 1s the correct explanation to (S).
(S). (R) Bodr $883:50. (R) (S)8 265308 I8 a0k,
i,

Both (S) and (R) are correct but (R) 1s not the correct explanation to (S).
(S). (R) ok 5603082. (R) (S)8o 008 Jdde audgdo B,
2.

(S) 1s correct but (R) 1s not correct.

(S) %08056, 50 (R) 05056 5.
3.



(S) 1s not correct but (R) is correct.

, (8) 90056 v, 53 (R) 08358,

Question Number : 78 Question Id : 7512365518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct sequence of steps that are followed in gene therapy.
Altered virus is mixed with cells from patient

Therapeutic human gene 1s inserted into the virus (vector)

Cells are collected from the patients

Cells from the patient become genetically altered

Remtroduction of genetically altered cells into patient

Suitable virus (vector) 1s selected and altered

The genetically altered cells produce the desired proteins or hormones

o

‘2dog DEG)S® 28D HBY HHJED woBols ﬁ.@uia’»@

AT mgon s

A 56 WS IORK A od 8RS S’ §gl6ca

B. Q8end 088 adoghd 380 (o) /&é%‘;}%éo

C. &0 008 Sered Sofirodido CJ

D. &8 S0d 825 Seoren adoghdo Qﬁgﬁo:ﬁéo

E.  =adghdor Srdn@odd éw&ﬁé 88A PITLHEo

F. 38508 365 (3§6)& ‘69:: S50y Bo&owito

G adgador ﬂ?d&gﬁo&fﬁéﬂm ©538D08 | P ol S S ool &g Taow
Options:

C-B-A-F-D-G-E

C-F-B-A-D-E-G
z.

C-E-F-A-B-D-G
e

C-A-D-E-B-F-G



Question Number : 79 Question Id : 7512365519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Gene P*? guards integrity of DNA and hence called ‘Guardian Angel of Cell’s genome’.
It checks the integrity of DNA at

P>3 2ifog) DNA Soiisiso H088%908 s7aed GAD S 25 SobEm BHS ™ Doodd.
26 DNA S5ofss & $4S° S0 Bdob.
Options::
S phase
S &%
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G, 829 Do Q//&
: ¢

M phase @
 Mas &
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Which wave patterns of Electroencephalography indicate the possibility of presence of
brain tumors?
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Question Number : 81 Question Id : 7512365521 Question Type: ption Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Verticalc)

Let G. W. S and E be relative strengths G@Waﬂonal, weak nuclear. strong nuclear and
electromagnetic forces. Identify the cvﬂ‘ option

G. W, S %8cin Een ﬁad&@‘gé@ dodye BolE, Hwe Sols Sobakn ddagldioar) o
Tof 20 davgen eloFtedd. Wad 20)5°Q) hgodod.
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Match the physical quantities with their correct SI umits.

&85 ool T8 JJ& Sl Pirerod 225 205003500,

List-1 List-1I
A) Planck’s constant ) kems™
B) Torque I ke'm’
C) Weight ) mikegs™
D) Specific volume V) I{gé{?

5838 -1 A He¢ -1

A)  Fof porosdn C)%f kgm.s™
B) &g, @ I kg'nd

C} 273 20 @ ]ID Illz.kg,s_l
D) :J%:& fmﬁ}éﬁsﬁrmm,@ V) kg.mz.s,‘z
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Points P. Q and R are in a vertical line such that PQ = QR. A ball at Pis allowed to fall freely
with zero initial speed. The ratio of the times of descent through PQ and QR 1s

P, Q508030 RaodHen Jend S PQ=0QR ©iHdEnd)J. P Ig Sood 858 Hrdgom
AOAS 28 208 o™ HEodty T, PQ Sodabw @ééoﬁ“ 1Bo&8 20& BRLTrS
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Consider two particles 1 and 2 moving with constant velocities ¥, and v, . If # and 7, are
the radius vectors of the particles at the start. the relation between 7. 7. ¥, and v, when
the two particles collide 1s

Ty 500050 ¥, P8 Sres® HosrsBow Dok Ssres 1500050 2 o 0KBoBos. sdo
556* Gero SgG HBTen T Ho8akn 7, wond, Dok Swre edirdo $o%8 7, B, V,
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Consider a particle moving in the Xy plane with velocity V=ai+ bxj . where i and j are
the unit vectors along x and y axes and “a” and ‘b are constants. If the mitial position of the
particle 1s x = y = 0. the equation to describe the particle’s trajectory in the plane is

Xy 800" S0 V= ai +byj 8 Hoirsiyd) £y HOKBotosw, RoS® i $o0cH J e
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A ball of mass 0.45 kg which 1s mitially at rest 1s h{t% bat. The bat remains in contact
with the ball for 3 x 10 s. During this time perigd the'Torce on the ball by the bat is given

as F(f)= [({xxl{)ﬁ)f—(ﬁxmg)r‘?‘]}i whe'%ud j are constants. The ball’s speed.
immediately as it loses contact with the 1s 20 m/s. The correct relation between
aand B 1s ?"

Fend JoBEm Sy 045 l{g@j’a@ﬁ@ 208 g &E Tirdd. g 20088 3 X 107 s S
SHB. & To BSOS gl 208 Seu@uS woo F(r)=|(ax10%)i—(8x10°)2 N,
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Two horizontal forces F; and E, act on a ball of mass 8 kg. The forces are such that

Fl =(14N) i and ‘E ‘ = 20N . If the x component of velocity (v_) changes linearly by 3 m/s in

1 sec. the angle between two forces is

¥ 4

8 ke (@550°8 o 208 1 50050 E, Bodk §8a 557088 meren 5035090, & aores
E = (14N)7 $0808 [F|= 20N 3o w8, xwodo (v)) 3hawor, 1 0Ese® 3mis m
Sy BobB & ok were My fo Fodn q
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2_ e
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Options:
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A particle of mass 10 g is thrown vertically upwards with a speed of 20 ms™. The work
done by the gravitational force during the time the particle moves upward is

10 g &5550°8 o §eQ) Ao 18 20ms™ 588" 236 Foarto. Emo DB BoSrBS)
a0’ fodoaEden o0 DS 5

Options:
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In a process. certain amount of mass gets converted mto energy. Let all the energy so
converted be in the form of photons. If 700 x 10'* Hz is the mean frequency of the photons
and if there are approximately 10°° photons, what is the approximate mass that is converted
into photons? (Assume h=6.6 x 10°*Js, c=3 x 108 ms‘l)g

"%

a8 BB, Fod ((Ngom3 ¥ Srdodooh. & D Siaéd Jwngo ¥§ Piroo
Erd0es® BIChHTHIw. PirSe Hod mﬁgw 00 x 10" Hz $o8asn FirSe
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Assertion (A) : If the ice on the polar caps of the earth melts. then length of the day will
merease.

Reason (R):  Moment of inertia of earth increases. as ice on polar caps melts.

©5E5E0 (A) : o G Bpore IS ol E0A8, wl T DE), sTo SgHb
Fele ST ol STeTAN

80 (R) : Erd P IpTre SZ3D) oot E8AB Lrdd BwE), =88] D080
2808,

The correct answer 1s

HOGE BIrGEBw

Options:
Both (A) and (R) are true and (R) 1s the correct ex tion of (A).
(A) 208030 (R) oo Todr 2k H0dasw (R) (A) 8 38 @008 JSSe.

1. &

Both (A) and (R) are true but (R) 1s Hﬂt@ orrect explanation of (A).

(A) H08030 (R) eo Bodsr J280 ) o058 (A) 8 58 wond IS8 5.
2 J

(A) 1s true but (R) 1s fals&;@

(A) dzdw 570 (R) 89y,

Both (A) and (R) are false.
(A) So00s0 (R) en Sodo Sy,
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Consider a thin rod of mass 1 kg and length 1 m. The material density of the rod at a distance

x from the left end of the rod 1s proportional to \/; . The moment of inertia (in kg-m?) of the
rod about the axis passing through the left end and perpendicular to the rod 1s

1 kg @sgorg Sododoo 1 m rédd) S8 §§§5} H0MB0Nod. A wowh ok TAD
X Br8oS® &F) 8§ Hg Fogs VX $h eHStirhdrdes’ HHp. §48 vonorm
ot G FS o 3G ofo Do §§ 2tk erdisy (kgm” o)
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. . . T
An object was found to make oscillations governed by the equation y = cos” ( wr + Z) -0.5.

The amplitude and angular frequency of these oscillations, respectively. are

T
= cos? (aﬂﬂ 0.5 52:85579) 053053 2.8 5509 Somres TRHE F5omd:.
& ToTo 5058 H0E Hoboin FBah DH:Hdgo Jenden SEXM

Options:
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A particle of mass m 1s placed at a distance x from one end-af a uniform rod with length L
and mass M. The magnitude of the EIEWHBHOHEI] f01-:-3 the particle from the rod is

Q

GM
F= ﬁ{ LGl] where 3 1s constant. If x = then Wa]u& of B will be

<
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A rectangular frame of some mass has to be suspended symmetrically by two mass-less
strings of equal length on two supports. It can be done in one of the three following ways
as shown in below figures. The tension in the strings will be

QB DEYeo KOh (BB508 Frd s Body So@edoddBrhon) dok 8FrTre ol &8
88 SS8Ers s Sodnd TRI0T BurdlohiTh. 8AQ Fol igRas Swurds dgroar
D00S” Wrdabdin BoLIBHH. goghed® ol 358
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Options: @v
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leastin (A)
(A) &* & gendn

least in (B)
(B) &° SRINUARLY

least 1 (C)
(C) &° edgeoybn
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A vessel contains oil (density = 0.8 g cm™) over mercury (density = 13.6 g cm™). A
homogeneous sphere floats with half of its volume immersed in mercury and the other half
in oil. The density of the material of the sphere (in g cm™) is

o FPEST FESS0 (@od = 13.6 gom™) wIRS Bosw (Fodd = 0.8 gem™) e
T &8 PO ES0 TR ey P00 A FHEI0E RHF HEE @Qa}*ﬁo B0 Ao
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Work done in increasing the/s%t of a soap bubble from a radius of 3 cm to 5 cm is nearly
(surface tension of soap solution = 0.05 Nm1)

2.8 2oy 2008k J“Sﬁ*ga’na 3 cmSood S od HoUTERE 2dddond G0 T

(beay) (@S0 Bwg, Sodsgs =0.05 Nm™)
Options:

(0.70 ) mJ

(0.64 m) mJ



(0.30 ™) mJ

(0.58 ™) mJ
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A metal block has a linear expansion coefficient of 84107 / °C and its density at 20 °C
is 11g/cm’. The approximate temperature at which its density becomes 10 g/cm? will be

2§ S5 BBy Bood), BYSTIE S Koeagno 8x1075/ °C Ho0c5n Td Fos 20 °C o 3¢
llg/em’. od rogd 10 glom’ eHdods sdodsd SPEd Jend Sodrdrmr
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The area measured on the surface ofa solid body of coefficient of linear expansion & is A
at some initial temperature. If the temperature changes by AT, the approximate change n
area, AA 15

5 TE O wIHE K OE g8 oBin o BOAS o8 Sy SNY doon FIAI

L [ o

SToghn Ay RHES D Srdy ATeond dodn Irogind’ Seort Srd, AA DIrdnr
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A gas undergoes a thermodynamic cycle as shown in Que-vohune diagram below. The
heat transferred to the gas 1s 300 J and 140 J along®ath 1 — 2 and 2 — 3 respectively. The
internal euergy 1s changed by —260 J along pa — 1. The work done by gas along path
1—-2—>31s

HL0S® BrHH Do DES - s a;sviam Goddey & Tk wRiss Hdah
oo S'Nowod. 1 — 2 Soboio %f 3 d7e oo SAnYHIE 8erwIodd Row
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1 -2 —330& 30509 3%3}
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P 1 — 2 respectively)
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The molecules of a monoatomic gas has r.m.s. speed v at 27 °C. It is heated until the r.m.s.
speed becomes 2v. What is the new temperature?

27°Co 3¢ Q8 HESreE TJHS weeoHe I.IM.S. :@&:&3} LIS, S& 2Vesio 2880
38 T, oy T7osn FE Sid Jod? (I/Q

Options:
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A source of sound gives 5 beats per second when sounded with another source of frequency
100 s™. The second harmonic of the source together with a source of frequency 205 s™
gives 5 beats per second. The frequency of the source 1s

w8 Gl a2nsdnd TFrdiysge 100 s e B08°% SR 2808 FNoSFVS @b ELL
S AJyodTrod EONK0H. 2d8Sn B Tody Grorg8d0, 205 g TG0 Mo DT
2IEJ0E OV DEWH 5 IDodTod EOA0H. £ 23850 dog) TFIYdgo Jeod

Options:
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Question Number : 102 Question Id : 7512365@ (&)n Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Ori 7on : Vertical
A transverse wave propagating along x-axis is represented by

y(x. 1) = 8.05]'11(0.5.?{.‘{' _Amr— g]

where x 1s in meters and 7 1s in seconds. The speed of the wave 1s

x-ofo Job PBI0NE) 8858 Sdor)
: /8
wx, = 8.{}5111( 0.57xx —4xt — 1)
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A 45°-45°-90° prism as shown in the figure is immerse '%ﬁter. A ray of light 1s incident
normally on one of its shorter faces. The minimum ir refraction that the prism must
have if this ray 1s to be totally reflected within L}(gl ss at the long face of the glass is
(Assume refractive index of watern_.__ = 1.3}@

O
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In a double slit experiment two interference patterns are seen on the screen. One pattern 1s
due to light of wavelength 500 nm and second pattern is due to light of wavelength 400 nm.
The distance between the slits 1s 2.5 mm and the distance of screen from slits is 1 m. The
separation on the screen between the fifth order (m = 5) bright fringes of two interference
patterns will be

o)

2ol DO (HAIE0S” Sody H388de Jgoten @fﬁ@oﬂ‘m&. 2.8 Qrgsran 500 nm
S0t Bd g B8ORS 5083 Sobddn Dodsd 4001 11 108 g0 5OAS 508 JHBISD.
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An electric dipole of length 5 cm is placed in an uniform electric field of 5 > 10° N/C at
an angle of 30° with the charges + 10 mC and —10mC on the dipole. The dipole experiences
a torque of

5 cm PEHF) DEgE BT R), J868 D&ogE o 5 % 10°N/C &° &2 2% fo +10mC
ool —10mC dHdgmIres’ 30° 3053&26&@0&?53. Q0&yNB0 &{N &)

Options:
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75 Nm (b
= N
100 Nm (1/
4. @&
Question Number : 106 Question Id : 7512365546 Question =VICQ Option Shuffling : Yes Display Question Number : Yes
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A parallel plate capacitor of two plates, ith area 907 cm?. is separated by 5 mm air-gap.
The capacitor 1s initially connected to source. When an unknown liquud is filled between
the plates so as to fill the air-gap, p-gdditional charge of 95 nC 1s found to be flowmg onto
the capacitor from the 100 V s@: ~ The dielectric constant of the liquid 1s

LAssume =0% HJ9 NIHEC_Q]
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An ideal amumeter is connected to a battery as shown in the ﬁ%? The currents through the
5.0 Q resistor and the 2.0 € resistor are. respectively Q‘\,

58065 Srdd o w¥ il B ss Kok ;{{(k . 5.0 Qe &S50 58050

20 Q o IFEI00 Hom DERS PFS Do C)@ Seosm
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AMA————
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Options:
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‘When operated at 240 V., a current of 10 A was seen flowing through a heating wire and it’s
temperature reaches to 1000 °C. If the temperature cnefﬁcie@f the wire is 1 x 107 / °C,
its resistance at a temperature of 0 °C 1s Q

240V 58 52 325900, o 38 Bowak@s) BYRD 10Ad8E Sassn ©50d
2 S 1000 °C % Bogootnod. &K Fe tegsn 1 x 107 /°C woxd

R 650 0°C 54 @

Options: J
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Two very long straight wires each carrying a current I are placed at .Fl =1j and .Fz =il .
The wires carry the current out of page (in k direction). If the magnitude of magnetic field
due to current in wires at p{:-iut.;r**3 =2l is ‘E‘ = a[ﬂT':’I] , then the value of constant & 1s
(11, 1s the magnetic permeability)

QEJEGT I Ddogd PTTdn &) Bodd w8FEIS 8 8ol ﬂ = fj' 2508 03
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An electron is moving through a uniform magnetic field given by B = a[f - ?ﬁj:| T . where
o 15 a constant. At some instant. the electron has velocity v = [f - 2;) ny/s. If the magnetic

force acting on the electron 1s .{3 2x107N)k . then the value of o will be

B=a[i+3j]T & &rdosnas D568 wobaned YEos® o8 JoES SShwbHd
29,6 0ol RO aETE sHchod’, Jogs V=(+2j)ms Iksn 08 w58,
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A magnetic dipole of moment 77 is placed in the magnetic field B . Itis fiee to rotate about
an axis about which its moment of inertia is L It is displaced by a small angle 6,(6, << 1)
at time f = 0 s and released. The dipole undergoes simple harmonic motion with

sz

angular frequency . Its potential energy at time 7is : (Assume sin(@) = &, cos(@) =1——

if a<<1])
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An alternating emf source of 100 V at 50 Hz 1s connected to a circuit of resistance (107) Q
and mductance of 0.173 H. What s the phase difference between current and emf

(101) Q o TS50 H8oin 0.173 H o xod3xyend) Socs»dd S0 Hze 5¢ 100 Ve
57088 D.A).0.0 BITR) F0FIH0 FPD. IBE PTTEN HOSW J.TW.0 BES
BT FEB80 Jod?

Options:

_D{.‘l

45°

O)
(\/Q‘V
60° A
4 @
@

Question Number : 113 Question Id : 7512365553 Question Tywe,; MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Ver

A current I=1; sin[mr = g) ﬂﬂwQX~ AC circuit. if potential E = E,sinar has been

applied. The power cuﬂsmnpy@the circuit will be

3 ; i . }I‘
AC D058 H00ird8 FTACHS E=Eysinar Q edhosgedzEy 1=1, 5111( wt _E] Qogs
RIS (HIeronod. Joohod” FHody JITLo JLID

Options:
EDID

NG

EI

42



Question Number : 114 Question Id : 7512365554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the intensity of sun light outside earth’s atmosphere is 1.4 kW/cm?, the corresponding
maximum electric field amplitude is, approximately (Assume po =47 * 10~ H/m)

T e 5600 pohl $rdgsod 838 1.4 kWiem’eond rd osrs (635 dEgs Ee
ol H0Lé Jend (U, =4n<10~7 H/m géoﬁ“sﬁof@

Options:
" 1.4V/m é
: O

100 V/m @
1 x10° V/m &%

1 %10° V/m

Question Number : 115 Question Id : 7512365555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A monochromatic source of radiation 1s operating at 100 W power. The source emits
2 x 10%° photons per second. The wavelength of light will be (h = 6.67 x 107*T s)

2.8 DESY DEBm 22585 100 WarBadso 56 $9B3308. 2dc ek 2 x 107FerSod
&m0 BRod. $°08 SCorPE S0 Deod (h=6.67 x 107 I s)

Options:



300 nm

400 nm

600 nm

500 nm

Question Number : 116 Question Id : 7512365556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ahydrogen atom is in a state with energy—1.51 eV. In the Bﬂlfjbmdd‘ the angular momentum

of the electron in the atom with respect to an axis at the@éus. is [i =1.05x107*] s']

N

o8 TEF RS 383re0d) —1.51 eV 4§ fo JFuF &Hd. §76 $J0rTST, 3857098
JoES @), SBohH (BS5KRH0 mm@é;&m 38 o) efo dborr

[i: 1.05 xm—“fs) Q/v
2w
Options: &%

3.15 » 1072* kg.m?/s

1.59 % 10~* kg.m?/s

6.99 x 107 kg.m?/s

2.40 x 107 kg.m?/s

Question Number : 117 Question Id : 7512365557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Tworadioactive materials X, and X, have decay constants 104 and A respectively. If initially
they have the same number of nuclei. then the ratio of the number of nuclei of X, to that of

1
X, will be — after a time
- e

Soth T&STre)f Sorgren X Ho0din X, © Sowsde porosten SHdm 10456050 Aew.

SOGIS" 8 SoEisre Sopg HSrdBs, X, SR Sodsre dopgir X, & Sodste dopgse

]
fo A8 Jodswo SWard — wHBok?
e
Options:
1
104
1. ‘\9
1 v

Question Number : 118 Question Id : 7512365558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A potassium chloride crystal has an energy band gap of 6 eV. What wavelength of light for
which the crystal i1s completely transparent? (Assume he = 1242 eV-nm)

Feruobo §Bd: S)BE50 DY, ¥§ B¢ wosEsn 6 V. H)BESN D 508 E80KFoT S8
HORForr FEGHEHYH06? (he = 1242 eV-1m ©d ©HTE500)

Options:



3 211 nm

199 nm
&

185 nm
3,

163 nm
4

Question Number : 119 Question Id : 7512365559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the circuit shown below. if V.=V, sin wt and the diode is ideal. the average value of

voltage across R; 15 (Assume source resistance 1s zem]

§od Srdd Sedhoes®, V.=V, sin ot 5o8c50 & Cﬂéwéueﬁ‘brﬁﬁé R; Ddde fe
Qo8 FPE Jend (2lE ASEo I éam&ﬁm}

Options:



Question Number : 120 Question Id : 7512365560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Identify the correct statement among the following.

Bod 78S DOSLX 8 Hfotod.

Options:
AM detection 1s carried out using a rectifier and an envelope detector.
28 J80K05 S0k o8 eIl FEEQ) GBIri0) AM FESH oad.

1. S
P

les (o, — ) and (o, + o_) only.
ating signal)

Wdargen (0~ ) Sodain (O o Jeo
JherE 20doiw a’n*cé:;géjéf Do doseren

Amplitude modulated signal contains fre
(o_and o _ are frequencies of carrier and

G'od H0NE SordogBE wud o880
Sr@ad wotran. (0 500k mﬂv,b
FSpargen) Q/
) 9
High frequency signals can not be transmitted to long distances.

e DPHDIgY doseroh Tor drorw S8 [HFEo BB Hw.

Long distance communication between two points on the Earth is achieved through
reflection of electromagnetic waves by Troposphere and Stratosphere.

S 2d Tolo DoBYPo NGy 8 SrdyY SodFIn, Y Bidn H8a5® @3&"5
B3O S §OR Ddoglaan o8 ddorre HTPHESSL TNoe FHTL.

Display Number Panel: Yes



Group All Questions: No

Question Number : 121 Question Id : 7512365561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many of the following orbitals have two angular and one radial nodes?
3d: 4d; 5 : 3p

§od shitrdos” Bodk §'bad T, wf TS TFhen fod IN)?
34 ; 4d ; 5f ; 3p

Options:

0

Question Number : 122 Question Id : 7512@62 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the wavelength of an electronic transition in He™ is 23 nm. the wavelength corresponding
to same transition in hydrogen atom in nm is

=

He™ &° dogS $8:5858 23 nm o $5048¢ g0 @dssHhons, TEeS $85rm0hs” o
DOSES 2EKETrIE ©IBEH S SEoKBYgSn NM &
Options:

92

46



Question Number : 123 Question Id : 7512365563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arrange the following in the correct order of ionization enthalpies :
Li, Be, B, N, ©

o TEY RANIBLES JoFTOY D0 Lo EHoSwS® edgos
Li, Be, B. N. O

Option;:' Be<B<0O<N ‘I/Q\,
i<=Be<B<0Q<
A

1.
&
Li<B<Be<O<N @
s

2. @
[i<N<Be<O<B @

5 A

, Li<Be<B<N<O

Question Number : 124 Question Id : 7512365564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statement from the following.

Bod &S V0TS B8 ofolod.

Options:



Oxides of the elements on the left of a period are basic.

a8 VOGS JEDNIY &) ooy @Ejﬁm 528 Hosdwn sod.

Oxides of the elements on the right of a period are basic.

a8 D0CHES” BEIY i) droso @Eﬂﬁw g0 omedn Bod.
o

Oxides of the elements on the left and right of a period are amphoteric.
28 H00HGES Add Hboln BEIY wd) DorosTe ©
Sod.

6355\3 &5m5w5§ Hoso0a

Oxides of the elements on the left of a period ’f idic.

%8 DOCHES” AdHIY vl LrosTo @& e enn o
4 _

Question Number : 125 Question Id : 7512365565 Question "'d CQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : V

Which of the following represen@mst stable Lewis dot formula for COo;™

9

Bob TBS® COX & wbE PBSco Mo orowr DY O Fhyo Hr0B6 I6?

Options:
1o
O :: t; 5,
0.
1
; 2—
Q C ) )
ZQ:



OCO
:Q:
=3
: 2—
Q:Q::O
O
4.

Question Number : 126 Question Id : 7512365566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (A) : PF_ has square pyramidal shape.
Statement (B) : BrF. is isostructural with PF._.

O

D58 (A): PF, S&30 Srirgsd ess Eboo ool
D58 (B):  PF, & BIF, 350007 00&° @Q@o 8.

&

The correct answer is @
HOGHS BEPTHB \~
Options: @
Statements (A) and (B) a{'egnet correct.
(A). (B) v $8 sonidd 5°9.

Statement (A) 1s correct: (B) 1s mcorrect.

(A) $6c086; (B) ©8 wonss s,
5

Statement (A) 1s not correct; (B) 1s correct.

(A) 58 wandd 578 (B) $6 wonda.
3



Both statements are correct.

) Tol Jatmen HhwanN.

Question Number : 127 Question Id : 7512365567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A closed container has 1 Avogadro number of gaseous molecules at 27 °C and 1 atm pressure.
The pressure of the same gas at 72 °C in atm 1s

27 °C %38c%s 1 atm Sédso ;’JQ ]l oM@ Sopg o ol @odHed wl JreR)
TS eanon. ©f Jaind 72 °C 5§ wEdsn am o

Options:

2.30

0.87

Question Number : 128 Question Id : 7512365568 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the kinetic energy (in ergs) of the nitrogen molecule at —73 °C?

S0 w0 =¥l (erg od®) —73 °C 58 Jod?

Options:

£14 x 107
1.

3.0x 107



4.14 x 10*

3.0 x 10

Question Number : 129 Question Id : 7512365569 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What are the coefficients v, y; z, p, g,  and s respectively in the following balanced equation?

XHNO,  +3KMnO,  +zH SO, — pHNO,  +gK,SO,  +rMnSO,  +sH,0

Bod Sogo Bobuds HaES0S® X, ¥, 2, P, @, ¥ 508050 5 Heaven ST ID?
.YHNOH W KMnO it -H,SO iy pPHNO, eyt g@ o MnSO oyt SH.ZO(@

Options: (L

n
12
Ll
h
o
9
fd

o % 1.1.59 1 /\%

Question Number : 130 Question Id : 7512365570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Molality (m) of 18 M H,SO, is. approximately
[d=1.84 g cm™. Molar mass of H,.SO, = 98 g mol ']

18 M H,SO, 30o-d8 () B
[d=1.84 gem™. H,S0, 375 55073 =98 gmol ']



Options:

36

1.8

18

237

Question Number : 131 Question Id : 7512365571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When 0.8 g of glucose, C H, ,O,, was bumnt in a bomb CHID@L according to the following
equation. the temperature raise 1s found to be 2 K at 1 @

CsHppOg() +00,,) —6C0,,y +6H,0, &(1/

If the heat capacity of the bomb calorimeter is @«J K. the approximate enthalpy change
of the reaction in kJ mol™ is

(Molar mass of glucose = 180 g mol™) @

0.8 gir8™E, CH,,0O.. & 2.8 aré bamge.: Girdo Bosorr, Bod Hoido Hsrdo,
I atm 3¢ LRSS oid m 080WEIIE.

CsH1 0455+ 6050 ——6C0 5y +6H, 0,

350065 2355w 6.8KTK " 008, D w855 domd)&® $odoy ki mol ™ o&* dosrdomr
(Ar8'& eogrdo =180 g mol™)

Options:
2 x10°
1.
1 %18
2.
6.8 % 10°



S %1
4.

Question Number : 132 Question Id : 7512365572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Consider the following reaction

4NH3(E} + SOZ(E} \:-—'_\ 4N0(g:l + 6H20(g}

If two moles each of NH, and O, are allowed to react and equilibrium is attained after 50%
of the O, has reacted, what 15 the value of equilibrium constant (K _.)?

Bob Wogd HoTod.

>

NH,. O, %86 2molen $d5s” S, 50% O .ﬁdé\%.é ST D& RS Jcﬁﬁsﬁmé

LdoTnd %Tﬂénm (Kp) De0d Jod?

56
=z,
2% % 6>
;14
=
2° %6
56
4.

Question Number : 133 Question Id : 7512365573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



If the pH of a solution containing 10 mL of 0.5 M CH,COOH and 10 mL 0f0.25 M NaOH
is 5. What is the pK_ of the acid?

10 mL. 0.5 M CH,COOH. 10 mL 0.25 M NaOH &&) doEd @deeo pH S @wownd

wf 5 -4’4}
w30 pK, Jod?

Options:

0.25

0.5

O)
(\9‘&
25 A
4 Q/
O

Question Number : 134 Question Id : 7512365574 Questio e: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : ti

How many moles of O, is evolved 1 one mole of MnOj, is reduced to Mn”* by H,0,

i acid medium? ,@

sH05rsEed’ w8 376 MnOj, H,0,8 Mn™ m gooismo Sodots® 688 0,arSo

RoP§ JOB?

Options:

135

2.5



Question Number : 135 Question Id : 7512365575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the tons which form hydrated chlorides from the followmg :

Bod 8S" Y F0bodk QWD wairsd Hgotobk.

a) Ba’
e) Mg~

Options:

i b B

b. d.

4 [=]

by QI c) NiE di &
f) Rb g) Ca*

Question Number : 136 Question Id : 7512365576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the reaction in which an adduct is formed?

D BBy H08DE Q) IGYD0E HBoWH0E?

Options:

B,H,+CO——



Na,B,0, + HC1—22

z.

BF, + LiAIH, ——
=
4.

Question Number : 137 Question Id : 7512365577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Formic acid reacts with concentrated H,SO, at 100 °C to liberate A. When A is passed over
heated ferric oxide. B and C are formed. What are A. B 3165 respectively?

oY

100 °C $¢ 0,5 esdosin me H 80,8 $855 08 s Bood. IABDS S
€8 i%ood AD HodbSHyd BRdon C oo ZHdaran. A, B, C oo S&0m D27

Options: @
CO. Fe. CO, @C)
1.

CO,. Fe. CO
K2

z.

CO, Fe. H,0
3.

CO. FeO. CO
4,

Question Number : 138 Question Id : 7512365578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In the following sequence of reactions. the gaseous species A. B. D, E respectively are

Bob GorgEdodns” A, B. D, E arotn ardoen S&0m
[(2)—(=)]

CEClg——Ag + B,

Options:

&
CECl; €1, 61, ¢o §§§)

iy, B, G0, B,
¢, Crel, do, @

Question Number : 139 Question Id : 7512365579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The TUPAC name of the following compound is

Bob d30¥So TUPAC &sodo

Options:
3 - ethyl - 4 - methylnitrobenzene

S
3- 285 - 4- 23S JE'BoES q/Q
2 -ethyl - 1 - methyl - 4 - Ili'{IDbEIlZEHEC)@

2- 23S - 1- 2086 - 4@@*50@
5 Qy~

3 - ethyl - 4 - methyl - 1 - enzene

3- 235 - 4 - 2086 - 1 - JE*BoEI

1 - ethyl - 2 - methyl - 5 - nitrobenzene
1- 288 - 2 - 085 - 5 - J5'BoEs

Question Number : 140 Question Id : 7512365580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In which of the following the C — H bond distance is longest?

Bod o8¢® TS C—H 2008 Srddon wdgod PEISH?

Options:

C,H,

i 2

C,H,Br, ,\?)
>

Question Number : 141 Question Id : 7512365581 Question Type :@ption Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Find the hybridization of carbons 1 an@éspectwely in the below compound?

ol 0 WSoS' TGS 1 Eﬁj&%@ﬂ H088E8ednen SEBMT 27

4 2
- 1
6
Options:
Fsp‘2 ; 51)2
1
Sp . Sp



sp” . sp

| %]

Sp . Sp

Question Number : 142 Question Id : 7512365582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A compound is formed by atoms ‘A’ and ‘B’. B atoms form ccp arrangement. If A occupy
1

= of tetrahedral voids. what 1s the formula of the compound?
|

|

A . B 385rend o8 S¢S0 I6)kos, B HEsreanPes ccp Srdym IGdaon. A
7 SErirgen Sogrod sEoddhond, $3¥do
A ol

O
'E}@fw 267
Options: (1;6
A,B, C)Q/

AB,

K2

A

I

B,

Question Number : 143 Question 1d : 7512365583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



A solution contains 5 moles of X and 5 moles of Y and has a normal boiling point of 90 °C.
The vapor pressure of pure X 1s 300 mm Hg. What is the vapor pressure of pure Y at this
temperature?

53rSo XHBohn STrde Yo @dmo amde Sodoib eafid 90 °C. ©4 Xerdyadso
300 mm Hg o8 s&id 3§ H©8 Y aorgnddo dod?

Options:

1220 atm

1220 Torr

1220 N/m°>

1220 bar &
b O{{/

Question Number : 144 Question 1d : 7512365584 Q pe: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientatior : tical

Consider the following ecplilib,l"égor benzoic acid in benzene

2CsH;COOH—=(C4H;COOH)

2

If “x’ represents the degree of association of the solute then relationship between total
number of moles of particles at equilibrium and van't Hoff factor (7) is

BoE'onf BHo BoEIG Bod $He R8I {odotod
2CsH;COOH+—=(CsH;COOH),

X R0 TG0 STrdS @58 YondLHoNB SHeRE & Indo o Irde Jopgs
To&lTR s (1) Dy Sowodhon

Options:



I\J|H.

l=x—i
>
X :
l-—=i
2
3
L |
4

Question Number : 145 Question Id : 7512365585 Question Type: MCQ Option%g : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Consider the electrochemical reaction between %f}\ﬁld Cly, electrodes in 1 litre of
0.1 M KCl aqueous solution. Solubility product 1is 1.8%107'° and F = 96500 C mol™.
When a current of 10 pA is passed. calculate@zg: 1ninmum time in seconds (s) required to
observe the AgCl precipitation in the gal cell.

1 986 0.1 M KCl zombocs’ h&ﬁo&oﬁb CL oy éro oy Ddogd Saraiond B85
%638 0%08. AgClirssobher ;({ 1.8x107% %6050 F=96500 Cmol™. 10 HA D6
Dobdtond AgCl olghin merids Ldns® JBYELrE Dy A5 Fodn DEeds® (5)
B oo d.
Options:

10

346

174

3.

17.4



Question Number : 146 Question Id : 7512365586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. For a first order reaction (A—:» P) the rate constant is 5 » 10~ min™" when the initial

concentration of A=2 x 107> M. If the initial concentration of A is doubled. what will be
the rate constant (in min™) at the same temperature?

A @dozs mES 2 x 107 M edjbydd 3068 Esrod 365 (A——P) e Horoko
5% 107 min™. A@rdog s Doy wonshyds 6B &S 3§ Ben orodo (min™ o)
DO&?

Options:

1 %10
3 5x 107

5 %107
1x107 @

Question Number : 147 Question Id : 7512@?u&tion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Ori tion : Vertical



. Match the following :

List-1 List-1I
Tvpe of Colloid Phase in medium
A) Aerosol I) Solid in solid
B) Emulsion ) Liqudinsolid
C) Foam ) Gasinliquid
D) Gel IV) Solid in gas
V) Liqudin liqud

Bod T eHBod Hw.

erda -1 e - 11
Serond 850 cin oo’ 2
A) JdonsrS I) ‘@%@goﬁ‘ DoddEgo
B) ad%ea SSTdost |KadTgo
s [eY G
C) &5 @] BI5TGoS® TosuBHErgo
D) BS @CJIV) THDITFoST PRDT Yo

J V) L@ﬁé;’:ﬁ“fﬁmua‘i“ L{ﬁéﬁﬁ"go
The correct answer 1s ,@

é&@osﬁ 23eT°220

Options:

@ ® O O

1 Y \% m II

@ ® O O
I I m N

@ ® ©O© O



@ @B (© @O

, 1 V I I\Y

Question Number : 148 Question Id : 7512365588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the auto reduction reactions from the following®

ol EST Brodo EodEda S¥gods Kofotod

a) Fe;0,+4CO——>3Fe+4C0O,
' | . |
by Cu,0+ ECuES—}~ 3Cu+ ESD2

- N
¢)  2PbS+PbO—3Pb+ SO, ‘\/Q

d Cu,0+C——2Cu+CO

A
Options: C)Q/

1. d. € @

b ¢ Q/v

a.d

b.d

Question Number : 149 Question Id : 7512365589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the precursor which is diluted to make H,SO,?

& FEumad A0S0 B H,S0, Scirddard?

Options:



B850,

1,
stzos
2
H?Szo?
3 &
SO3
4

Question Number : 150 Question Id : 7512365590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arrange the following oxoacids of chlorine in their d@sing acidic character.
Sod E&E @?b%éﬁ{fﬂéﬁj e plUs! Eﬁgéﬁ 0z do s SoRa0es® 23655:5035.

Options:

HCIO, > HCIO, > HOC1 > HCIO, @C)

1.

2

HCIO, > HCIO, > HCIO, > %zgt’

HOC1>HClO, > HCIO, > HCIO,

HCI0, > HOC1 > HCIO, > HCIO,
4

Question Number : 151 Question Id : 7512365591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The correct sequence of paramagnetic property of the metal 1ons 1s

ST Brew JHTCHIY 08 FTO 6 o FEHw

Options:



T 5 i 7 G- |
D 5 ) 2
M >V a0

M2 =G > Cut >V

C >V =0 > Mt

Question Number : 152 Question Id : 7512365592 Question Type: MCQ Option Sl‘@ng : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many different compounds are possible foﬂ@ formula. .K3 | Co(oxalate),CL, |
assuming octahedral geometry for the Cobalt-@lle}; 1on?

Sord $08h ouirSH epves sie SINEd K, [Co(oxalate),ClL, | S8ners* 23)
36 36 s3yFoen @égé&@@“m&?‘

Optior%':s):n . &%

2,883

Two
Do

Three



Question Number : 153 Question Id : 7512365593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following monomer is used to prepare Neoprene?

Eod TBS® IBFRHID SSrHBSNLE SHRriod IrTHE 8?7

P
Z. Q@
CH, q/
,,//I\/\ é
3. | @C}
I s

Question Number : 154 Question Id : 7512365594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

- Which one of the following is Nucleic acid chain?
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Find the suitable structure for antibiotic chloramphenicol from the following?
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Identify the relation among the rates of following nucleophilic substitution reactions?
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The product (R) of the following reaction sequence is
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What are X and Y respectively in the following reactions?
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Statement (a) : Carboxylic acids with C,  and above are insoluble in water.
Statement (b) : Ethanoic acid is having less boiling point than propan-1-ol.
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The correct answer is
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Both (a) and (b) are correct.
(a) Ho00s0 (b) e H6BSD.

Both (a) and (b) are not correct.
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Arrange the following compounds in increasing order of their base strength.
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